YPAALCKUIA TOCYAAPCTBEHHbI n

. T. KoctoycoBa
H. H. Kupunnosuu

OUR PLANET’S
BIODIVERSITY




MUHUCTEPCTBO HAYKU U BBICLIET'O OBPA3OBAHISI
POCCUMCKOI ®EJEPALINU

denepanbHOE TOCYIAPCTBEHHOE OIOIKETHOE 00pa30BaTeIbHOE
YUpEeKIEHUE BBICIIEr0 00pa30BaHUs
«YpanbCKuil rocyaapCTBEHHBIN JIECOTEXHUYECKUN YHUBEPCUTET
(YIIITY)

0. T. KocroycoBa
H. H. KupriutoBuu

OUR PLANET’S
BIODIVERSITY

VYuyeOHoe rmocobdue

ExarepunOypr
2021



VK 811.111 (075.8)
BBK 81.432. 1173

K72

K72

Penen3enTol:
kadenpa nHoctpanHbix s36IKk0B @I'BOY BO «Ypanbckuii rocyaap-
CTBEHHBIM arpapHbIil YHHUBEPCUTET»; 3aB. Kadeapoill MHOCTPAHHBIX S3bI-
KOB, JOIIEHT, KaH[. niea. Hayk H. 1. Copokuna;
M. @. Kysneyosa, xaHja. mel. HayK, 3aM. JUPEKTOpa MO HAYy4YHO-
meronuueckoit padore 'AIIOY CO «CepanioBckuii 001acTHOM memaro-
THYECKHUI KOJISIK

Kocrtoycosa, J. T.

Our Planet’s Biodiversity : yue6Hoe mocodue / 3. T. Kocroycosa,
H. H. Kupunnosuy ; MUHHCTEpCTBO HayKU U BHICIIETO oOpa3zoBanus Poc-
cuiickon Penepauuu, YpaabCKUM TI'OCYIAPCTBEHHBIN JIECOTEXHUYECKUN
yauBepcuteT. — ExarepunOypr : YIJITY, 2021. - 104 c.

ISBN 978-5-94984-789-3

OcHoBHas 11eJb 3aJjaHuil y4eOHOro mocodus — odecneunTh HopMuU-
pPOBaHHME M COBEPIICHCTBOBAHUE HABBIKOB YTCHHUS, PA3TOBOPHOU M MMHChH-
MEHHOU peuyu oOydYarommxcsl Mo JIECHOM TEeMAaTHKe, YTO CIOCOOCTBYET
Pa3BUTHIO BCEX COCTABISIONINX KOMMYHUKATHBHON KommeTeHnu. [loco-
Oue npeaHazHayYeHo JUIsl BceX 00y4YarolMXcs JECHbIX HApaBICHUN B Jie-
COTEXHHUYECKHUX YYEOHBIX 3aBEICHUSIX.

HSI[&CTC?I IO pCHICHHUIO PCAAKITNMOHHO-U31aTCIBCKOTO COBCTA Ypam)—
CKOI'0 roCyaJapCTBCHHOI'O JICCOTCXHUYICCKOI'O YHUBCPCUTCTA.

VIIK 811.111 (075.8)
BBK 81.432. 1573

ISBN 978-5-94984-789-3 © OI'bOY BO «Ypanbckuil rocy1apCTBEHHbIN

JIECOTEXHUYECKUN YHUBEpPCUTETY, 2021
© Kocroycona 9. T., Kupunmnosuu H. H., 2021



BBEOEHUE

[Ipennaraemoe ydyebHOE MmocoOue mpeaHazHa4eHo JIs BCeX 00ydaro-
IIMXCS JIECHBIX HAIpPaBJICHUM BBICHIMX Y4eOHBIX 3aBeneHuil. OHO cocTas-
JICHO COTJIACHO KapTe HampasiieHui oOyueHuss MHcTUTyTa jeca u mpupo-
JIOTI0JIB30BAHUS U COCTOUT U3 14 pasnenos.

Kaxnplii pasmen uMMeeT NPAaKTUKO-OPUEHTUPOBAHHBIM XapakTrep H
MpeNCTaBlIeH PyOpUKaMHu:

— NOJATOTOBKA K KOMMYHHUKAIIUH;

— ynpakHeHue 1o (GOHETHKE;

— TEKCT JJI1 U3YYarOLEro Wi MOMCKOBOIO YTEHUS;

— JIGKCUYECKUE U TPAMMATUYECKHUE YITPAKHEHUS;

— MIOCJIETEKCTOBBIE 3aJJaHUS;

— MaTepualibl O Pa3BUTHIO PA3TOBOPHOM pPeyu;

— MaTepualibl MO Pa3BUTHIO MUCHMEHHOM peuH;

— uH(popmanus 00 UHTEPECHBIX (haKTax;

— IPOEKTHBIE 3a/1aHHUS;

— 3aJlaHus Ha MOTIOJTHEHUE CIIOBAPHOIO 3araca.

Takas cTpyKTypa pa3aesioB HaXOAUTCS B MIOJTHOM COOTBETCTBUU C TpE-
OOBaHUSAMU, MPEIBABISIEMBIMU K BIAJCHUIO aHITIMMCKUM SI3bIKOM IO OKOH-
YaHWUHW W3Y4YeHHUs OOIIEero Kypca.

Pa3mMerneHHbIe B TOCOOMH JEKCUKO-TPaMMAaTUYECKUE TECThI SBIISIOTCS
IIPOBEPOYHBIMU M OXBaTBIBAKOT BECh MAaTEpHal KaKJ0ro IPOUIEHHOTO pa3-
nena.

OcHoBHBIMU pecypcamu Uil 3P(HEKTUBHON pabOThI ¢ y4eOHBIM MOCO-
OveM SBIIAIOTCS CJIOBAapH, CIIPABOYHUKH, CalThl ceTH MHTEpHET, KOTOphIE
yKa3aHbl B IPUJIAra€MOM CIIUCKE JIUTEPATYPBHI.



Unit 1
How Trees Work for Us-Take a Look!

1. Discuss these questions with your partner.

What do trees provide for people?
What jobs are connected with forests?

2. Pronunciation guide:

raccoon — [ro'ku:n]

candy wrapper — ['kaendi] ['repa]
cereal — ['sioriol]

crayon — ['kreron]

quality — ['kwolti]

observe — [ob'za:V]

variety — [vo'raioti]

obvious — ['Dbvras]

hazelnut — ['heiz(o)Inat]

walnut — [wo:Inat]

3. Read the text and find which examples illustrate the importance of
the topic.

How trees work for us — Take a look!

Many animals, such as birds,
squirrels, raccoons and a variety of
insects, spend much of their lives in
trees. These animals are born in trees,
live in trees, raise their young in trees
and seldom come down to the ground.
Trees provide them shelter from the
weather and from enemies, food in the
form of fruits, nuts, leaves, bark and
roots. Even dead trees provide shelter
and food for many insects.

We probably can’t think of anyone who lives in a tree, but many of us
live in wooden houses made from trees. Furniture and many other obvious
items inside our homes are also made from wood.

However, wood is not the only product that comes from trees.
Practically every part of a tree is used to make paper for magazines,
newspapers, candy wrappers, and cereal boxes. Sap, the liquid that flows in
trees, is used to make maple syrup, chewing gum, crayons, paint, and soap.
Dyes and medicines are made from the bark, while leaves and roots provide
oils for cosmetics and medicines.




Not to be forgotten are the jobs that trees provide for people — loggers
and tree planters, for example. All the products made from trees create
many more jobs. Did you ever wonder who makes pencils or chewing
gum?

Many types of trees provide food for people too. Apples, pears,
peaches and cherries come from trees, as do nuts like walnuts and
hazelnuts. Trees make our world a nicer place. Image your neighborhood
without trees. Parks and campgrounds would certainly not be the same
without trees. We all love the sight of trees.

The quality of our environment — the air, soil and water — depends on
the roles trees play. Trees help create rain as they expel moisture into the
atmosphere: their roots draw it from the soil and their leaves return it to the
air. Trees clean the air we breathe by taking in carbon dioxide through the
leaves and then giving off oxygen we need to breathe. If trees didn’t
breathe, neither could we. Roots help hold soil in place to prevent erosion
which not only saves soil, but also keeps our waterways cleaner. You may
have observed that water is usually cleaner where an abundance of trees is.
Trees provide shade in summer to help cool our homes, in winter, they
block wind to help warm our homes.

VOCABULARY
4. Check if you know the key words:

» raccoon

» squirrel

» candy wrapper
> cereal

» crayon

» quality

» variety

> to observe
» to depend
» obvious

> hazelnut
» walnut

> insect

» shelter

5. Match the words to make phrases.

1) to spend ____the young

2) to raise _ lives

3) to provide ____shelter

4) to make ____environment

5



5) to take in _ trees

6) a variety of __ items

7) the quality of ___ planters

8) dead ____insects

9) tree ____ carbon dioxide
10) obvious ____maple syrup

Keep — aepxarb, COXpaHATh, XpaHUTh, UMETh, COIEPKATh, 00ECIIEUNBATD.
NMeTb (XpaHHUTB) YTO-TO MOCTOSIHHO WUJIM BECH IIEPUOJT BPEMEHHU.
CoxpaHsTbCs, HE TOPTUTHCA.

Save — coxpaHsTh, 5KOHOMHUTD, CIIAcaTh, COEpedb, KOMUTh, OEpPeUb.
CoxpanuTh (M HAKATUIMBATH) JJIs OyTYIIETO UCTIOIB30BAHUS WU COXPAHUTH
JUUIS1 KOTO-TO WJIK YETO-TO elIIe.

Preserve — coxpaHsTh, XpaHUTb, OXpPaHATh, 00OEperarh, 3alUIIaTh.
CoxpaHuTh YTO-1MOO0 B €r0 HBIHEIIHEM BHUJIE€ U 3AIIUTUTH OT pa3pylICHUs
VI TIOBPEXACHUH (C TEUEHHEM BPEMEHM ).

Store — xpaHuTh, HaKaIJIMBATh, CKIAUPOBATH, 3aM1aCaTh.
XpaHuTh (4TO-TO), KOTJa 3TO HE UCTOIB3YETCs, OOBIYHO B MECTE,
IpeIHa3HAYEHHOM JIJIsl ATOM 1eJH (CKJIaIUpOBAaTh).

6. Choose the correct verb using the information above.
1. This will ...save.. .money.

2.1t ... s you one hour.
3. Willyou ...... me a seat?
4. What is the best way to............ peaches?
S whole grain flour in the freezer.
6. thinkhe .......... s his keys in the desk drawer.
7. Where do you ........ your tea bags?
8 e your room tidy.
GRAMMAR

7. Choose the correct form of pronouns.

1. Many animals and insects spend much of their / they lives in trees.
2. These/this animals are born and live in trees.

3. Trees provide them/ they shelter from enemies.

4. We probably can’t think of anyone/someone who lives in a tree.

5. Many of us/our live in wooden houses.



6. Furniture inside our/ours homes is made from wood.

7. Practically every part of a tree is used to make any/some useful

product.

8. All/Every the products made from trees create many more jobs.

8. Read the sentences. Use the pronouns given in capitals at the end of

each line to form a pronoun that fits the space on the same line.

1. Many animals raise ...their.... young in trees.

2. Trees make ... world a nicer place.

3. Image ... neighborhood without trees.

4. Trees help create rain: ...roots draw it from the soil.

5. Trees provide shade in the summer to help cool ...
homes.

6. Trees give ....oxygen and store carbon.

7. An eagle is able to lift something four times ......
own body weight during flight.

8. Plants need sunlight - however not all of ..... need
the same amount.

READING

THEY
YOU
WE
THEY
WE

WE
IT

THEY

9.1. Read the text again and choose the best title for each paragraph.

There is one extra title.

1. Jobs for People

2. Trees and Environment
3. Tree Houses

4. Useful Products of Trees
5. Saving the Forests

9.2. Complete 1-9 with the suitable ending from a—i.

1. Many animals and insects a) when there is an abundance of
spend... trees.

2. Trees provide food... b) is used to make some useful

3. Furniture and many other product.
obvious items inside our homes... ¢) much of their lives in trees.

4. Practically every part of d) in the form of nuts, fruits,
a tree... leaves, bark and roots.

5. Trees make our world...
6. Trees clean...

7. If trees didn't breathe,

8. Roots help...

9. Water is usually cleaner...

e) the air we breathe.

f) hold soil in place.

g) neither could we.

h) are also made from wood.
1) anicer place.
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SPEAKING
10. Discuss the role of trees in our life with your partner. Use the words
from Pronunciation guide and Vocabulary.

WRITING
11. Answer the question: Is this letter formal or informal? Complete
the gaps with the words from the box.

My, yours, myself, me, this, it, she, these, yourself, your, your

Dear Kyra,

Thank you for 1) ... letter. It was interesting to hear about your life.
Now I want to tell you something about 2) ...

Well, I am still at university. I have a brother. He is older than 3) ...
We don't get on very well. My dad is a teacher but my mum doesn't work,
4) ... 1is a housewife.

5) ... family and I live in a flat in a small town. That's normal here-
people don't usually live in houses in my country. What about in 6) ... ?
The town isn’t very pretty but we live close to the sea and to mountains.
That means we can go to the beach in summer and skiing in winter.

At university I'm studying biology. I think 7) ... subject is more
difficult than studying literature and the arts. I want to be a biologist. What
about your plans?

Anyway, 8) ... is the first time I've written a letter in English so
I hope you can understand 9) ...

Take care of 10) ... and write soon.

David

INTERESTING FACTS
12. Read and discuss.

WOODPECKERS SQUIRRELS




Woodpeckers can make 8,000-12,000 pecks in a day, which means
they can peck about 20 times per second when they are not engaged in
other activities like feeding, drumming, and excavating nest cavities.
In spite of the heavy pecking, woodpeckers never come down with head-
ache. This is because their skulls are reinforced and structured to spread the
impact force, together with the fact that their brains are highly cushioned
and protected from the impact.

Tree squirrels are one of the most important animals around when it
comes to planting forests. Though they may be careful about where they
bury their acorns and other nuts, they still forget about quite a few of their
caches (or at least neglect to retrieve them). When they do, those acorns
often sprout, resulting in more trees—and eventually, yet more acorns for
the squirrels.

13. Find out some amazing facts about the animals on the Internet.

14. Do the crossword using synonyms below.
Synonyms are words with one or more similar or same meanings.

mean-cruel error-mistake first-initial lost-misplaced
wet-damp trail-path last-final join-connect
help-assist short-brief smart-intelligent give-donate
ACROSS DOWN
1. Mislaid 2. Ability to learn quickly
3. An incorrect answer 4. Hurting someone purposely and enjoying it
5. At the end 7. At the beginning

6. Covered with water
8. To fasten together or link
10. To give aid or support

9. Path or track
11. Short in length
12. Contribute a gift to a fund or cause

||



https://www.washingtonpost.com/local/one-paw-washing-the-other-oak-trees-and-squirrels-have-evolved-to-help-each-other/2014/04/07/9b2a57fa-ba89-11e3-9a05-c739f29ccb08_story.html?utm_term=.2e78ed2e3cf1

Unit 2
Defining Species, Populations and Habitat

1. Discuss these questions with your partner.
What is the difference between the African and the Asian elephant?

What is the English for ‘oak’?

2. Pronunciation guide:
divisible [d1 vizib(9)l]
acorn [ ‘erkomn]

distinguishable [d1 stipgwifab(o)l]

ensure [in'[u9g]
giraffe [d31 ra:f]
hybrid ['haibrid]
obscure [ab'skjuo]
pygmy ['pigmi]
scientific [saion'tifik]
various ['vearios]

3. Read the text and explain what “species, population, habitat” mean.

Defining species, populations and habitat

Various observable differences
allow organisms to be put into
named categories, such as elephant,
giraffe or oak tree. On closer
inspection these categories can be
seen to be divisible into a series of
smaller categories; for example,
there are at least two types of
elephant (the African and the Asian
elephant) distinguishable by their
body size (the African is larger)
and various other characteristics,
such as their teeth and the size of
their ears.

African elephants can be further divided into three separate types, based on
size and habitat preferences: the forest or round-eared; the bush or large-

eared and the pygmy.

That two individuals possess different characteristics does not
necessarily mean that they belong to different species. A species is defined
strictly as comprising all organisms that are able to interbreed and produce

10



viable (healthy and fertile) offspring. Two closely related species may be
able to produce hybrids.

It is conventional to give species a latinized specific name. The name
’oak’ i1s a common name, derived from the Anglo-Saxon ‘ac’ meaning fruit
or acorn. The common name, the pedunculate oak, is in fact quite a good
one, because it identifies an important characteristic of this species.
Unfortunately, it has a second common name — common oak!

Conversely, one common name may correspond to several species.
Therefore, to avoid confusion and ensure that each species has one name
that is used internationally, the common or pedunculate oak also has the
scientific name Quercus robur .

Incidentally, the origins of the two parts of this scientific name are
quite obscure. Quercus is an old Latin name that is used for all oak species.
It is possible with the Greek for pig, choiros, because pigs are fond of
acorns! The species name robur apparently means ‘strength’ or possibly
‘hardwood’ or ‘elite’, all suitable names for the oak.

A population is a group of individuals of the same species, all of
which have the potential to interbreed and that live close to each other.
Individuals from different populations of the same species are less likely to
interbreed.

A habitat is defined as the type of environment where individuals of a
species live. These habitats may occur in saltwater, freshwater or on land
(terrestrial). Each habitat has its own environmental characteristics — high
or low temperatures, bright light or shade, plentiful rain or draught. And
species that have found a place in a habitat have inherited their own
methods for surviving these conditions.

VOCABULARY
4. Check if you know the key words:
» common
» to define
» to ensure
» habitat
» to interbreed
» offspring
» population
> to posses
» scientific
» species
» various
» obscure
» distinguishable
» divisible

11



5. Match the words to make phrases.

1) habitat ______characteristics
2) separate __ preferences

3) important ____ temperatures
4) common ______populations
5) observable _____species

6) viable _____ elephant

7) African _____ offspring

8) different __ differences

9) low _____rain

10) plentiful _____name

Live — )KuTh; CyIIeCTBOBATb.
[maronm moapasymeBaeT, 4YTO MBI JUIMTEIBHO WJIH KPaTKOBPEMEHHO
MIPOKMBAEM B CBOEM COOCTBEHHOM HWIIH UYKOM JIOME.

Reside — npoxuBaTh, HAXOAUTHCS, KHUTh, TPEOLIBATE.

[maron mpenmonaraer UIMTEIbHOE MpeObIBAaHHE B KAKOM-ITMOO MecTe
o(pUIMATEHOTO JIUTA; )KUIIBE, B KOTOPOM MPOXKUBAET 3Ta Ba)KHAS TIEPCOHA,
aCCOIIMUPYETCSI C BIACThIO, aBTOPUTETOM M OOTaTCTBOM.

Korma wmmel ymorpeGmsiem «reside» Bmecto «live», TO mepBoe CIOBO
MOJy4YaeT YBKWUTEIbHBIA, BO3BBINICHHBIA WA JaKe HPOHHYCCKHUMA
Xapakrep.

Dwell — »xuTh, oOcTaHaBIMBATHCS, OOUTATh, IPEOBIBATE.

['maron o003HaYaeT BCe TE )K€ YCIOBHS MPOXKUBAHMS, YTO M IIPH «residey,
HO HET HAKAKOTO YKa3aHWsI O CTaTyCe YKMBYIIETO MU JKHIIUIIA, B KOTOPOM
OH OOHUTaET.

Inhabit — macensts, 0OuTaTh, JKUTH.
I'maron o0o03HAYaeT, 4TO KAaKOE-TO MECTO 3aCEl€HO KEM-TO, YTO KTO-TO
00HUTaET TaM, MOCTOSHHO MPOXKHBAET.

6. Choose the correct verb using the information above.

. They ...live... in Moscow.

. We have been ...... ing in New York since childhood.

. Decades ago a lot of people used to ............... in the country.
. The Earth is the only planet ............. ed by people.

. The Queen of Great Britain ............ s in Buckingham Palace.
. This family ............. s on an estate.

. These remote islands are ............. ed only by birds.

. She dreams of ............ ing at the seaside.

12
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GRAMMAR
7. Complete the sentences with comparative or superlative forms of
adjectives and adverbs in brackets.

1.0On closer inspection the categories can be divided into
...smaller... ones. (small)

2. There are at ... two types of elephant. (little)

3. The African elephant is ... than the Asian elephant. (large)

4. African elephants can be ...divided into three separate types.(far)

5. Individuals from different populations of the same species are ...
likely to interbreed. (little)

6. Orchid species are often described as the ...and unusual plants.
(beautiful)

7. The... value of biodiversity is yet unknown. (great)

8. It identifies .....characteristics of this species than that one.
(important)

8. Choose the correct form of adjectives.

1. The climate is (softer, more soft) here.

2. In my opinion the tiger is (more dangerous, most dangerous) than the
leopard.

3. It is one of the (more beautiful, most beautiful) lakes in the world.

4. This week the weather is (hotter, more hot) than last week.

5. Iron is the (more useful, most useful) of all metals.

6. Today the streets aren’t as (clean, cleaner) as they used to be.

7. Which is the (colder, coldest) month of the year?

8. Your plan is the (best, better) of the two.

READING
9.1. Read the text again and complete the sentences.

1. There are ... types of elephant.
a) three b) two c¢) four

2. The African elephant is ... than the Asian elephant.
a) larger b) smaller c) the same

3. Two closely related species may be able to produce...
a) hybrids b) population c) habitat

4. “Ac” means ...
a) acorn b) cone c) leaf

5. One common name may correspond to...
a) one species b) two species c¢) several species

6. A ...is a group of individuals of the same species.
a) habitat b) population c) subspecies

13



7. Individuals from different populations of the same species are
...likely to interbreed.
a) less b)atleast c) little

9.2. Find in the text the terms to the definitions.

1. The nut of an oak tree.

2. A plant or animal group whose members all have similar general
features.

3. The type of place that a plant normally grows in.

4. A group of individuals of the same species.

5. A member of a population.

SPEAKING
10. Think of a suitable Russian equivalent for the idioms. Use them in
stories of your own.

— As smart as a fox.

— As happy as a clam.

— Every dog has its day.

— Like a fish out of water.
— Let the cat out of the bag.
— Crocodile tears.

— Curiosity killed the cat.

WRITING
11. Answer the question: Is this letter formal or informal? Complete
the gaps with the words from the box.

interested, productive, superior, new, ready, happy

Dear Mr Keyser,

We are writing to acknowledge receipt of your letter of 20 October, 2011,
for which we thank you.

We will be 1) ... to welcome your representative Mr Goodman to our
office. We are extremely 2) ... in your 3) ... lines as we find that all your
products are of 4) ... quality. Our specialists are 5) ... to cooperate with
Mr Goodman and express their opinion on the goods.

We look forward to seeing your representative and hope that this visit
will be 6) ... .

Sincerely yours,
J. Lee
Manager
14
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INTERESTING FACTS
12. Read and discuss.

POPLAR BAMBOO

sl

W

If'" i ~I

The poplar species native to North America are divided into three
loose groups: the cottonwoods, the aspens, and the balsam poplars. The
name Populus refers to the fact that the trees were often planted around
public meeting places in Roman times. The wood of poplars is relatively
soft and hence is mostly used to make cardboard boxes, crates, paper,
and veneer.

The origin of the word Bamboo comes from the Malay word
"Mambu"'. Malay is the national language of Malaysia and Indonesia. In
the late 16th century (1590-1600) the Dutch named it "Bamboes" after
which it got its Neo-Latin name "Bambusa". Some claim that the original
Malayan word was "Bambu", resembling the sound it makes when bamboo
explodes in open fire. When bamboo is heated, the air in the sealed hollow
internode chambers will expand and cause an explosive bam-boom sound.

13. Find out some infor mation about the names of plants on the I nter net.

14. Circle the correct antonym for each sentence below.
Antonyms are words with opposite meanings.

1. When you take money out of the bank, you do this.

ANSWER: increase the amount of money / decrease the amount of

money

2. When you make something original, you do this.
ANSWER: create it / destroy it

3. Things made from sugar always taste like this.
ANSWER: sour / sweet

4. When something is uncooked, it is this.
ANSWER: raw / cooked

5. Two things that look almost the same are this.
ANSWER: different / similar

15


https://www.britannica.com/place/North-America
https://www.britannica.com/plant/cottonwood-tree
https://www.britannica.com/plant/aspen-plant
https://www.britannica.com/science/wood-plant-tissue
https://www.britannica.com/technology/paper
https://www.britannica.com/topic/veneer

Unit 3
Pine

1. Discuss these questions with your partner.
What tree is the most popular in Russia?

How high is Scots Pine?

2. Pronunciation guide:
Europe ['jvarap]
Asia ['e139]

Siberia [sai'biario]
Caucasus ['k o:kosas]
Scandinavia
[skeendi'neivio]
Northeast [no:0'1:st]
Portugal [ 'po:tjug(a)l]
occur [o'ka:]

diameter [dai'@mito]
mature [ma'tfvo]
height [hait]

3. Read the text and find the sentences with the words from

Pronunciation guide and translate them.

Pine

sylvestris; family Pinaceae) is a
species of pine native to Europe
and Asia, ranging from Ireland,
Great Britain and Portugal in the
west, to eastern Siberia, south to
the Caucasus Mountains, and as far
north as well inside the Arctic
Circle in Scandinavia. In the North
of its range, it occurs from sea
level to 1,000 m, while in the
south of its range, it is a high
altitude mountain tree, growing at
1,200-2,600 m altitude.

It 1s readily identified by its combination of fairly short, blue-green

leaves and orange — red bark.
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It is an evergreen coniferous tree growing up to 25 m in height and
Im trunk diameter when mature, exceptionally to 35-45 m tall and 1,7 m
trunk diameter. The bark is thick, scaly dark grey-brown on the lower
trunk, and thin flaky and orange on the upper trunk and branches. The pine
grows most rapidly in height during the period from 20 to 50 years of age.
The lifespan is normally 150-300 years, with the oldest recorded
specimens (in Sweden) just over 700 years.

The shoots are light brown, with a spirally arranged scale- like
pattern. On mature trees the leaves (‘needles’) are glaucous blue-green,
often darker green to dark yellow — green in winter, 2,5-5 cm long and
1-2 mm broad.

The pine has a tap-root system that extends far down into the ground
and makes the tree resistant to wind and fire. The stands are not very
dense, and in open stands the branches are heavier and more numerous than
in denser stands. The pine growing near the coast and in the higher altitudes
1s lower and more branched.

Scots Pine 1s the national tree of Scotland, and it formed much of the
Caledonian Forest which once covered much of the Scottish Highlands.
Overcutting for timber demand, fire, overgrazing by sheep and deer, and
even deliberate clearance to deter wolves have all been factors in the
decline of this once great pine and birch forest.

Scots Pine is an important tree in forestry. Pine is essentially a
construction material of good quality. The wood is used for pulp and sawn
timber products. A seedling stand can be created by planting, sowing or
natural regeneration. It has been widely used in the United States for the
Christmas tree trade.

VOCABULARY
4. Check if you know the key words:
» clearance
» coniferous
» deliberate
» to occur
» to identify
» diameter;
> flaky;
» height
» lifespan;
» mature;
» pine
» scaly
» spirally
> altitude
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5. Match the words with their definitions.

1) native (n) _____someone who was born in a particular place
2) fairly (adv) _ scaly bark is so dry that small pieces of it fall off
3) scaly (adj) __ the length of time
4) flaky (adj) ____removal of something
5) lifespan (n) ~ full growth or completed development
6) maturity (n) __ to some degree, but not completely
7) clearance(n) _ breaking easily into small flat pieces
8) saw (V) ____to cut something with a saw
9) height (n) _____how high something is
10) dense (adj) _____with alot of trees, plants growing close together

Like — xak OyaTo, CIIOBHO; KakK.

C70BO UCTONB3yeM I TOTO, YTOOBI yKa3aTh Ha CXOXKECTh JIFOICH, Mpe-
METOB, COOBITHI, NEUCTBUN, U OOBIYHO YMOTpeOsisieM Mepen CyIeCTBU-
TEJTHHBIM WK MECTOMMEHHUEM.

AS — Kak, B Ka4eCTBE, B BUJIC.

CroBo ucnonb3yeM, 4ToObl YKa3aTh Ha CXOXKECTh JIIOEH, MPEIMETOB,
COOBITUH U TEUCTBUH, U OOBIYHO YIIOTPEOISIEM TIEpe] CIIOBOCOUYCTAHUEM

C IJIarojIoM WJIM TMepeJl CI0OBOCOYETaHWEM, KOTOPOE HAYMHAETCS C MPEAsIo-
ra, a TaKXKe KaK yKaszareiab MpoQeCcCUu Wiu COMaIbLHON POIIH.

TOO — crumIKOM, TOXE, TAK)KE, OUCHb.

CroBo ynoTpe0iisieM niepes] mpuiaraTeIbHbIM HITH HapEUIHUEM.

Enough — nocrarouno, 1oBoNBHO.

CrnoBo ymoTpebmnsieM Tmepen CyIIEeCTBUTENBHBIM WM TOCJE Tpujiara-
TETHHOTO WJIA HApEUHsl.

6. Choose the correct word using the information above.

1. Your sister looks ... like ... you and she prefers ... too ... sweet coffee.
2. ... on May 16, he again failed to attend the conference.

3. You’re reading the same book ... he did.

4. 1t feels ... silk.

5. ... you brother, I’ll take care of you.

6. We’ve got ... room to put you up.

7. This house is ... small for us to live in.

GRAMMAR
7. Underline the correct variant.

1. The Scots Pine is (a/the) species of pine.
2. Scots Pine grows in (the/-) Europe and (the/-) Asia, for example in
(the/-) Ireland, (the/-) Great Britain and (the/-) Portugal.
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3. We can find Scots Pine in (the/-) Siberia, south to (the/-) Caucasus
Mountains, and inside (the/-) Arctic Circle in (the/-) Scandinavia.

4. It is (a/the) high altitude mountain tree.

5. It is (an/a) evergreen coniferous tree.

6. (The/-) lifespan is normally 150-300 years, (with the/-) oldest
recorded specimens just over 700 years.

7. Scots Pine formed much of (the/-) Caledonian Forest which once
covered much of (the/-) Scottish Highlands.

8. The wood is used for (the/-) pulp and (the/-) sawn timber products.

8. Correct the errors in these sentences by adding or removing a/an/the.

1. Could you get a loaf of bread from the baker’s?

. Milk is good for children.

. The John is at a work at moment.

. We travelled to the Hungary by a car.

. Have you got a brother or the sister?

. War between two countries was longest in history.
. Who was first astronaut who walked on Moon?

. Nile is longest river in world.

[c BN I e NV, I SRS I )

READING
9.1. Answer the questions in your own words.

1. Where does Scots Pine grow?

2. When do pines grow in height most rapidly?

3. What are the shoots and the leaves?

4. What is the root system of the pine?

5. Why is Scots Pine an important tree in forestry?

9.2. Read the text again and say if the sentences are true, false or they
don’t have the information.

1. The Scots Pine grows best on dry, sandy soils.

2. It is readily identified by its combination of fairly short, blue-green
leaves and orange — red bark.

3. It is an evergreen coniferous tree growing up to 55 m in height.

4. The lifespan is normally 350-500 years.

5. At the age of 120 to 150 years the growth in height stops.

6. The pine growing near the coast and in the higher altitudes is lower
and more branched.

7. Scots Pine is the national tree of Scotland.

8. Pine is a construction material of low quality.
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ONEKTPOHHbIN apxuB YIJITY

SPEAKING
10. Describe the pine using the following plan.

— Habitat.

— Bark.

— Leaves.

— Shoots.

— A root system.
— Use in forestry.

WRITING
11. Answer the question: What kind of letter is it? Complete the table

with symbols for email addresses below.

From: mary-white 2@email.com

To: GREY/an@email.com

Subject: Mary White Absence

Dear Mr. Grey,

Please accept this written notification of my absence on August 25,
2020. I am unable to attend work due to sickness.

If you need additional information, please let me know.

Sincerely,

Mary White

upper (lower)-case, forward (back)-slash, hyphen(=dash), dot, at, underscore

Symbol How it is said
@

/\
abc
ABC

INTERESTING FACTS
12. Read and discuss.
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Sundews are carnivorous plants. This means that sundews can trap and
digest insects to obtain extra nutrients, such as nitrogen. This allows
sundews to live where other plants can’t- in nutrient-depleted soils or peat
bogs. Some sundews can obtain a sufficient amount of nutrients from the
soil, which allows them to survive for long periods of time, even if they
don’t catch any food (ie mature D. capensis).

However, other sundews (such as Drosera glanduligera) are not very
efficient at absorbing nutrients through their roots, so they must rely more
heavily on catching prey. This means that if they do not catch prey after
germination, they will only live a short time.

If sundews are fed (or capture their own food), they will generally grow
larger and faster than plants that are not fed.

13. Find out some amazing facts about the unusual plants on the
Internet.

14. Choose the correct homophones for each picture from the word list
below.
Homophones are two or more words that sound alike
but are spelled differently and have different meanings.

beet — beat eye — I berry — bury
bear — bare flour — flower urn — earn
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Unit 4

Parts of a Tree

1. Discuss these questions with your partner.
What parts of a tree do you know?

How do trees feed?

2. Pronunciation guide:
column [ kolom]
margin [ ‘'ma: d3n]
armor ['a:mao]
resin [ rezin]
quantity [ 'kwontiti]
anchor [ "@pka]
phloem [fflovem]
xylem [ 'zarlom]
cambium [ kaeembiom]
tissue [ 'tifu:]

3. Read the text and find the information about the basic parts of

a tree.

Parts of a tree

Root system

Trees come in various shapes and
sizes but all have the same basic
structure. They have a central column
called the trunk. The bark-covered
trunk supports a framework of
branches and twigs. This framework is
called the crown. Branches in turn bear
an outside covering layer of leaves.

A tree is anchored in the ground
using a network of roots, which spread
and grow thicker in proportion to the
growth of the tree above the ground.

In a mature tree, most of the cells of the trunk, roots, and branches
are dead or inactive. All growth of new tissue takes place at only a few
points on the tree, by the division of specialized cells. These actively
growing areas are located at the tips of branches and roots and in a thin
layer just inside the bark. Lastly, trees have reproductive structures; either

flowers or cones.
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Leaves, bark, twigs and fruit can make quick work of tree
identification. Shape, although not a tree "part", plays a key role in tree
species characteristics. Leaves are food factories of the tree. Powered by
sunlight, the green substance in leaves, called chlorophyll, uses carbon
dioxide and water to produce life-sustaining carbohydrates. The entire
process is called photosynthesis. Leaves are also responsible for respiration
and transpiration.

A tree's leaf is one major marker that helps in keying out and
identifying alone. Leaves come in many shapes and sizes. The "star" shape
of sweet gum is totally different from the heart-shaped leaf of an eastern
redbud. Note that leaves can be described by observing their base, their
margin and their tip or apex. Each characteristic has a name and is used a
part of the identification process.

A leaf can either be simple (no extra leaflets) or compound (three or
more leaflets). This leaf structure is always a help with tree identification
because of each tree species' leaf structure.

Bark is a tree's natural armor and protects from external threats. Bark
also has several physical functions, one is ridding the tree of wastes by
absorbing and locking them into its dead cells and resins. Also, the bark's
phloem transports large quantities of nutrients throughout the tree.

Xylem carries water and minerals from the roots to the leaves.
Phloem carries manufactured food (sugars) from the leaves to the roots.
The cambium (a watery layer only a few cells thick) is the generative layer,
giving rise to both xylem and phloem.

VOCABULARY
4. Check if you know the key words:

» branch

> twig

> cell

» cone

» leaflet

» margin

> nutrient
> resin

» root

» stem

> tissue

» cambium
» to anchor
» to rid smth of
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5. Match the words to make phrases.

1) a central cells and resins
2) a mature leaf
3) an eastern trunk
4) the bark-covered substance
5) the green leaflets
6) the heart-shaped carbohydrates
7) reproductive redbud
8) life-sustaining tree
9) extra column
10) dead structures

Information — uadopmarnus, naHabIe.

Misinformation — ne3undopmarus; HenpaBUIbHAS HHPOPMAIIHSL.
Jannast unpopmanus sBISETCS JIOKHOM UM HETOUHOU nH(pOpMalueH,
KOTOpasi pacIpOCTPaHAETCS HENPEIHAMEPEHHO.

Disinformation — aesundopmarius.

Jannast unpopmanus sBIsSETCS JIOKHOM UM HETOUHOM nH(pOpMaLneH,
KOTOpasi MpeJHaMEPEHHO MpeHa3HaueHa sl oOMaHa.

Malinformation — Hego6pocoBecTHas HHPpOpPMALIHSL.

JanHas uHbopmaIus SBISIETCS MPaBAUBON WM TOYHOM HMHQpOpMaIuei
(OCHOBaHHOW Ha peaJbHOCTH), KOTOpas IepefaHa WM HCIOJIb30BaHa
C HAMEPEHHEM IPUYUHUTH BPEL.

6. Choose the correct noun using the information above.

1. 1 need more ... information ... .

2. My mother read the schedule wrong and gave me ... .

3. They spread ... about the economy to try to boost the approval rating.
4. He gave me valuable ... .

5. For ... phone 8279-3772.

6. ... is sharing private data or statistics publicly.

7. The government used ... to gain support for the policy.

8. There's a lot of ... about the disease that needs to be corrected.

GRAMMAR
7. Name the part of speech.

noun, pronoun, adjective, adverb, verb, preposition, conjunction
division to identify
basic these
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lastly substance

external characteristics
actively growth
reproductive inactive
because of either....or

8. Read the sentences. Use the words given in capitals at the end of
each line to form a word that fits the space on the same line.

1. Trees have the same ... basic ... structure.

2. They have a ... column called the trunk.

3. All ... of new tissue takes place of only a
few points on the tree.

4. These ... growing areas are located at the
tips of branches.

5. Leaves are ... for respiration and
transpiration.

6. Leaf structure helps with tree ... .

7. Phloem carries ... food from the leaves to
the roots.

8. The cambium is the ... layer.

READING

BASE
CENTRE
GROW

ACTIVE
RESPONSE
IDENTIFY
MANUFACTURE

GENERATE

9.1. Read the text again and say if the sentences are true, false or they

don’t have the information.

1. Plants can be of various shapes and sizes.

2. The central column of the tree 1s called the branch.
3. In a mature tree most of the cells of the trunk are active.
4. Small particles are found in the leaf cells called chloroplasts.

5. Roots are responsible for respiration.
6. Most trees cannot be identified by the leaf.
7. A leaf can be simple or basic.

8. Green substance in leaves is called photosynthesis.
9. The bark phloem transports nutrients throughout the tree.

9.2. Name an appropriate noun for each of these definitions.

1. The part of a tree which 1s under the surface.
2. The small green things on plants and trees.
3. A part of a tree which has leaves on it.

4. The tall, round, central part of a tree.

5. The hard outside surface of a tree.
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ONEKTPOHHbIN apxuB YIJITY

SPEAKING
10. Describe parts of trees using the pictures.

MAPLE OAK

WRITING
11. Here is an envelope. Match the numbers on it (1-6) with the letters
next to it (a-f).

a) the addressee’s
position

b) the street name in the
mailing address

c¢) The ZIP Code in the
return address

d) the addressee’s name
¢) the sender

f) the ZIP Code in the
return address

(1) New Jersey Power Company
5695 South 23 Road
Ridgefield, (2) NJ 08976

(3) Mr. Frederick Morris
(4) Director of Market
Smith Printing Company
(5) 673 Sixth Avenue
Milwaukee, (6) WE 8905

INTERESTING FACTS
12. Read and discuss.

to turn over
a new leaf
to shake
like a leaf

Some people love the new year and all the celebrations. What also
comes with the new year and thinking about changes, is the «New Year’s
resolutionsy.
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It 1s a tradition in which we resolve to continue good practices and
change an undesired trait or behavior, to accomplish a personal goal, or
otherwise improve our life. If we decide to stop doing something we
consider to be bad and to start behaving in a better way, we can say that
we are going to turn over a new leaf. This idiom is used to signify a major
change in behavior, or a new stage in life, almost like starting to write on
a new page in a book.

Some people are terrified of speaking in front of their colleagues,
teachers, groupmates. They always shake like a leaf when they have to
speak in public. This means that they stutter and tremble (when their
muscles cannot stop moving around and the paper they are holding in the
hands shakes so much they cannot read, speak).

13. Find out some amazing facts about the idioms with the parts of
trees on the Internet.

14. Choose the correct homographs for each picture from the word list
below.

Homographs are words are spelled alike but have two
or more different meanings.

glasses letters plant
check palm keys
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Unit 5
Forests Affect the Soll

1. Discuss these questions with your partner.
How do forests affect the soil?
Is there a humus layer in the forest?

2. Pronunciation guide:
horizon [ho'raizn]
decay [di'kei]
micro ['maikrav]
honeycomb ['hanikouvm]
humus ['hju:mos]
rainfall ['reinf o:1]
excessive [ik'sesiv]
permeable ['p3:miob(o)]]
affect [0 fekt]
effect [1'fekt]

3. Read the text and say if you agree with the author.

Forests affect the soil

Forests affect the soil most of
all through litter. Litter breaks the
impact of rain, retards runoff, and
filters rainwater into the soil without
disturbing soil structure. In dry
weather, litter reduces surface
evaporation. When litter decays, it
provides mineral elements for tree
growth. It shelters microbiotic life,
which breaks down many kinds of
complex substances into simple
forms, and it shelters worms that help
to keep the soil granular and mellow.

In extremely cold weather, the forest litter acts as a blanket through
which the heat from the soil cannot escape rapidly. Litter therefore reduces
the depth of freezing of forest soils. When a forest soil does freeze, it tends
to honeycomb and it becomes therefore permeable to sudden rains that may
come in late spring.

Litter is the source of the human horizon of a forest soil and the
humus layer is the part of a forest soil that distinguishes it from an
agricultural soil. Cultivated soils contain humus, too, but it chiefly comes
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from a humus layer previously formed under grass or forest. The humus of
a farmed soil is maintained only by extraordinary methods of crop rotation
and fertilizing, whereas the humus layer of a forested soil is maintained by
the yearly leaf fall. When bare fields are planted with trees the humus layer
increases in thickness. This increase is a good index of site recovery.

Forests help prevent peak floods through their effect on the soil.
A porous, permeable soil absorbs rainfall faster than a cultivated soil. A soil
covered with litter, brush, and tree stems retards runoff of much surface
water that may not be absorbed quickly. Experiments show that from
a 40- to 50- inch rainfall in Ohio, forests store about 6 inches more water
than fields in cultivated row crops.

The forest intercepts much of the force of wind-driven rain, and thus
prevents beating of the protective litter and soil. It protects the soil from
excessive heat, light, and drying winds. Its roots hold the soil in place.

VOCABULARY
4. Check if you know the key words:
» to affect
» to decay
» to disturb
» to protect
» to escape
» evaporation
» excessive
» horizon
» humus
> litter
» permeable
» rainfall
» effect
» impact

5. Match the words to make phrases.

1) to affect _____as ablanket
2) to reduce ____ runoff
3) to break down ______many kind of complex substances
4) to act _____much of the force of wind-driven rain
5) to increase ___ the soil granular and mellow
6) to prevent _____surface evaporation
7) to intercept ___ thesoil
8) to retard _____ to honeycomb
9) to tend ___peak floods
10) to keep ____in thickness
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Until — o Toro kak, 10 Tex mop.

[Tpenyor mcmonb3yercsi, 4ToObI yKa3aTh, KaK JOJITO YTO-JIMOO JTUTCS WU
OyneT IJIUThCS 0 TeX IOp, MOKa YTO-TM00 HE HACTYNUT (1ata, COOBITHE,
MOMEHT).

Before — o Toro kax.

[Ipennmor mokas3pIBaeT, YTO €CTh JBA ACHUCTBUA, U 33Ja€T TO, KOTOPOE UIECT
paHBbIIIC.

In spite (of) - HecmoTps Ha.

[Ipensyor ynotpebisieTcs Bceraa ¢ MpeasioroM «oh) mepen CymecTBUTEb-
HBIMH U TEPYHIUEM C OKOHYAHHEM «ing.

Despite - HecmoTps Ha.

[Tpensor ynorpebisercs Bceraa rnepes CyieCTBUTESIbHBIMHU.

Although — xors1.

Cor03 UCTIONB3YETCS AT COSAMHEHUS TIPEITI0KCHUH.

6. Choose the correct noun using the information above.

1. I’m staying ...until ... 8 o’clock.

2. Don't eat anything ... the others arrive.

3. He didn't arrive ... 10 o'clock this evening.

4. She gave everyone a present ... she left.

5. He plays the piano very well ... he can't sing at all.
6. We went for a walk ... the rain.

7. We came late ... of driving very fast.

8. ... all my friends like pizza, I can't stand it.

7. Complete the sentences. Use in, into, by, from, without, about, with.

1. Humus comes ... from ... a humus layer.

2. The humus layer of a forested soil is maintained ... yearly leaf fall.
3. A soil covered ... litter retards runoff.

4. Forests store ... 6 inches more water than fields.

5. Litter filters rain water ... the soil ... disturbing soil structure.

6. The heat ... the soil cannot escape rapidly.

7. ... extremely cold weather, the forest litter acts as a blanket.

8. Choose the correct preposition.

1. Forests affect the soil through / from litter.

2. At/In dry weather litter reduces surface evaporation.

3. When litter decays, it provides mineral elements for/from tree
growth.

4. Litter breaks down/up complex substances into/in simple forms.
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5. Litter acts as a blanket through/from which the heat from/for the soil
cannot escape rapidly.

6. Sudden rains may come in/at late spring.

7. Forests help to prevent peak floods through/from their effect on/at
the soil.

8. Forests protect the soil for/from excessive heat.

READING
9.1. Read the text again and complete the sentences.

1. Forests affect the soil through ... .

2. In dry weather litter reduces surface ... .

3. In extremely cold weather, the forest litter acts as a ... .

4. The ...layer is the part of a forest soil.

5. Forests help prevent peak ... .

6. A porous .....soil absorbs rain fall faster than a cultivated soil.
7. The forest protects the soil from excessive ... .

9.2. Complete the sentences (1-6) with the endings (a-f).

1. Litter breaks ... .

2. Litter shelters worms that ... .

3. When a forest soil freezes, it ... .

4. The humus of a farmed soil is ... .

5. The humus layer of a forested soil is ... .
6. Forest prevents ... .

a) beating of the protective litter and soil.

b) the impact of rain.

c) help to keep the soil granular and mellow.

d) maintained by the yearly leaf fall.

e) maintained by extraordinary methods of crop rotation and fertilizing.
f) tends to honeycomb.

SPEAKING
10. Give a summary of the text using the following phrases:

— forests affect

— the forest litter

— in dry weather

— 1n cold weather

— a farmed soil

— a forested soil

— forests help prevent
— the forest intercepts
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WRITING

11. In this letter Alex is giving Ann advice about writing a good CV.
Correct the incorrect prepositions in bold.

Dear Ann,

You asked from help without writing your CV. Here are some ideas to
help you.

Obviously, you must include your contact details (address, phone, etc),
your education, work experience and skills. You can include a photograph

at your CV if you want but it’s not absolutely necessary.

It’s a good idea to write quite a short CV, so you shouldn’t write more

than two pages, and don’t forget, you should start in your most recent job
first.

Finally, check that you haven’t made any spelling or grammar
mistakes.

Hope, this is useful.

Best wishes,
Alex

INTERESTING FACTS

12. Read and discuss.

CONIFEROUS
or
BOREAL

FORESTS

There is an enormous variation of soils around the world; from the
deep and black soil from the Russian steppe to the puddled rice soil from
the Philippines. The variation of soils and their properties is the result of
biological, physical and chemical processes that occur in the Earth's crust
over time.
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In soil science, podzols (ash-soils) are the typical soils of coniferous or
boreal forests. They are also the typical soils of eucalypt forests and
heathlands in southern Australia. Podzol means «under-ash» and is derived
from the Russian «pod» + «zolay; the full form is «podzolistaya pochvay
(under-ashed soil). The term was first given in middle of 1875 by Vasily
Dokuchaev. It refers to the common experience of Russian peasants of
plowing up an apparent under-layer of ash during first plowing of a virgin
soil of this type.

13. Find out some facts about the soils on the Internet.

14. Find the relationship between the first two words in the
sentences below. Then complete each analogy with a word from the box.

Analogies are statements of relationship.

recipe, kitchen, food, defense,
strategies, mixture, pest, bowl, sponge,
ants, bake, temperature

1. Carrots are to rabbits
as crumbs are to
2. Library is to libraries
as strategy is to
3. Welcome is to guest
as unwelcome is to
4. Milk is to pitcher
as sugar is to
5. Attack is to offense
as repel is to
6. Scrub is to brush
as wipe is to
7. Tub is to bathroom
as sink is to
8. Drink is to water
as eat is to
9. Dry is to flour
as wet is to
10. Skillet is to fry
as oven is to
11. Part is to whole
as ingredient is to
12. Inch is to width
as degree is to
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Unit 6
Air Pollution

1. Discuss these questions with your partner.
Which gases break down ozone?
How are they produced?

2. Pronunciation guide:
havoc ["havok]
aerosol ['eara'sol]
ozone ['ovzovn]
monoxide [ma' noksard]
fuel [fju:al]
sulfur['salfo]
impurity [im'pjvarati]
statue ['stetju:]
enough [i'naf]
foam [fouom]

3. Read the text and say which gases cause acid rain.

Air pollution

The polluting gases released
through human activity can havoc in
the air. CFCs (chlorofluorocarbons)
used to be used in aerosols, air-
conditioning units, and polystyrene
foam. They break down ozone in the
upper atmosphere and allow more
harmful UV rays to reach the Earth’s
surface. Being exposed to more UV
rays will increase the risk of skin
cancer (although this can be reduced
with sun cream).

Australia has high level of skin cancer because it is under an ozone
hole. The increase in UV rays might also kill plankton in the sea — this
could have a massive effect on the sea ecosystem because plankton are at
the bottom of the food chain. Scientists predict that fish levels will drop
(meaning among other things, less food for us to eat).

When fossil fuels are burnt without enough air supply they produce
the gas carbon monoxide (CO). It’s a poisonous gas. If it combines with red
blood cells, it prevents them from carrying oxygen. Carbon monoxide’s
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mostly released in car emissions. Most modern cars are fitted with catalytic
converters that oxidize the carbon monoxide (to make carbon dioxide),
decreasing the amount that’s released into the atmosphere.

Acid rain is caused by sulfur dioxide and oxides of nitrogen. As well
as releasing CO,, burning fossil fuels releases other harmful gases. These
include sulfur dioxide and various nitrogen oxides. The sulfur dioxide
(SO,) comes from sulfur impurities in the fossil fuels. The nitrogen oxides
in the air are caused by the heat of the burning. When these gases mix with
the rain clouds they form dilute sulfuric acid and dilute nitric acid. This
then falls as acid rain. Internal combustion engines in cars and power
stations are the main causes of acid rain.

Acid rain can cause a lake to become more acidic. This has a severe
effect on the lake’s ecosystem. Many organisms are sensitive to changes in
pH and can’t survive in more acidic conditions. Many plants and animals
die. Acid rain can kill trees and damages limestone buildings and statues.

VOCABULARY
4. Check if you know the key words:

> aerosol

» ozone

> to allow
» to predict
> to increase
> to reduce
> fuel

A\
=
<
.
=
o
0
(€]
=

nitrogen

oxygen

sulfur

pollution
impurity

carbon monoxide

VVVYVYYVYYVY

5. Complete the sentences using the words from the box.

break down, kill, releases, emissions, impurities,
harmful, predict, power, fitted, burnt

1. Chlorofluorocarbons ... ozone in the upper atmosphere.
2. This allows more... UV rays to reach the Earth’s surface.
3. The increase in UV rays might also... plankton in the sea.
4. Scientists ...that fish levels will drop.
5. When fossil fuels are ... without enough air supply they produce
the gas carbon monoxide (CO).
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6. Carbon monoxide’s mostly released in car ...

7. Most modern cars are ... with catalytic converters.

8. Burning fossil fuels ... other harmful gases.

9. The sulfur dioxide (SO,) comes from sulfur ... in the fossil fuels.
10. Internal combustion engines in cars and ... stations are the main

causes of acid rain.

By the end — k konIy "ero-nmubo (Hanpumep, K KOHYy)y OHsL).

Coderanne UCTIONB3YETCS C MPEAJIOTOM «ODH».

At the end — B koHIIe 4ero-moo.

Coueranne ymnoTrpebmnsieTcs, yToObl 0003HAYUTH Kakue-THOO0 BpPEMEHHBIE
WIA TIPOCTPAHCTBEHHBIE PAMKH, TO €CTh KOTJa PeUb MOXET UITH O KaKOM-
TO TIEPHOJIE, HAPUMED, 8 KOHYe 200a; WU KOTJa Mbl TOBOPUM O PacroJo-
KEHHH KaKOTO-TO OOBEKTa B MPOCTPAHCTBE, HANIPUMEP, 8 KOHYE VIUYb.
KoHnctpykuus orBedaeT Ha Bompochkl «Korma?» u «I'nme?» u ucnonp3yercs
¢ mpeasiorom «of.

In the end — B KOHIIE KOHIIOB.

Coueranue nMeeT 3HaueHHe aHIHiickoro ciosa «finally», ymorpebmnsercs,
KOT/Ia pedyb HJIET O KaKOM-TO KOHEYHOM HTOTe, OTBe4aeT Ha Bompoc «Uto
MIPOU30IILIO B PE3YAbTaTe?» U UCTIONB3YETCs 0€3 KaKUX-JIN00 MPEJIOroB.
Lastly — nakonerr.

CnoBO HUCIONIB3YeTCsA, KOTZa MBI JOXOAWM JI0 KOHI[A TEPECYUCIICHHS WU
CIIUCKa M coOMpaeMcsl OrIaCUTh MOCJICIHUA TYHKT, Hanpumep, Kapougag,
Dounbype, /lyonun u, naxouey, JIOoHOOH.

6. Choose the correct words using the information above.

1. I worked hard and ... inthe end ... | succeeded.

2. What happened ... of the film?

3. ... I decided to stay at home.

4. Don’t worry, everything is going to be fine ... .

5. You need to buy a few apples, some flour, and ... a bottle of milk.
6. ... of the day I am exhausted.

7. ... of the book the main character disappointed me.

8. The work should be done ... of the year.

GRAMMAR
7. Underline the correct form.

1. Australia has high levels of skin cancer because / because of it is
under an ozone hole.

2. Scientists predict what/that fish levels will drop.

3. When/Where fossil fuels are burnt without enough air supply they
produce the gas CO.
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4. If/Since it combines with red blood cells, it prevents them from
carrying oxygen.

5. Most modern cars are fitted with catalytic converters that/who
oxidize the carbon monoxide.

6. As well as/as well releasing CO,, burning fossil fuels releases other
harmful gases.

7. This could have a massive effect on the sea ecosystem so/because
plankton are at the bottom of the food chain.

8. Why/When these gases mix with the rain clouds they form dilute
sulfuric acid and dilute nitric acid.

8. Choose the correct word from the box.

how, where, how, why, what(2), when(2)

. ...How... do the polluting gases release?

. .....do CFCs break down ozone?

. .....has Australia high level of skin cancer?

. ....might kill plankton in the sea?

5. ....do fossil fuels produce the gas CO?

6. ....is caused by sulfur dioxide and oxides of nitrogen?

7. .....do these gases form dilute sulfuric acid and dilute nitric acid?
8. ....can acid rain cause a lake?

A W N —

READING
9.1. Read the text again and choose the correct answer.

1. ... are used in aerosols, air-conditioning units, and polystyrene foam.
a) carbon monoxide, b) chlorofluorocarbons, c) sulfur dioxide
2. The increase in UV rays might also kill ... in the sea.
a) plankton, b) fish, c) animals
3. If ... combines with red blood cells, it prevents them from carrying
oxygen.
a) carbon monoxide, b) carbon dioxide, ¢) sulfur dioxide
4. Carbon monoxide’s mostly ... in car emissions.
a) released, b) decreased, ¢) included
5. The sulfur dioxide comes from sulfur impurities in ...
a) the air, b) the fossil fuels, c) the sea
6. Internal combustion engines in cars and power stations are the
main ... of acid rain.

a) gases, b) causes, c¢) conditions
7. Acid rain can cause a lake to become ... acidic.
a) much, b) more, c) less
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8. Many organisms are sensitive to changes in pH and can’t ... in
more acidic conditions.
a) increase, b) survive, c¢) decrease

9.2. Name appropriate words for each of these definitions.

1. Any form of precipitation with acidic components.

2. The colourless, odourless, tasteless gas.

3. The chemical element with the symbol H.

4. The presence in the environment harmful or poisonous substances.
5.The chemical compound with the formula SO,.

SPEAKING
10. Describe the damage that can be caused by acid rain. Use the words
from Pronunciation guide and Vocabulary.

WRITING
11. Here is a Curriculum Vitae (CV). Match the headings with the
sections.

____Interests _____Personal profile ____Personal Detail
___Work experience _____References ____Education
___Keyskills
1)
Name Robert Brown

Address 4 Ash Grove Road, Anytown, Ot2 7 IR
Tel: 0666364582
Email: robertb@mktg.ssu.co.uk
Nationality British
Date of birth 12/10/86
Marital status Single
2)
I am reliable, well organized, and used to working on my own initiative.
I am comfortable working on my own or as part of a team.
3)
Familiar with Microsoft Word and Excel
Clean driving license
Good problem- solver
Self- motivated
Fluent in German
4)
2009 — Present Marketing Assistant, Success Solutions Unlimited,
Manchester Duties include planning and implementing all advertising
and promotion, responding to enquiries, monitoring student performance
2008-2009  Teacher of English, Churchill School of English,
Munich, Germany
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5)
2004-2007  London University: BA in English Literature and
Language
1997-2004  Minster College Secondary School, Wells
8 GCSEs, 3 A levels: English (A), German (B), Art(C)
6)
Football, sailing, reading, landscape painting
7)
Available on request

INTERESTING FACTS
12. Read and discuss.

NOISE
POLLUTION

-':
i

Noise pollution is simply excessive outdoor noise brought about by
honking cars going around, heavy machinery operating in the midst of
crowds, barking dogs, extremely loud audio entertainment systems, and
electric megaphones. Regular exposure to this type of pollution makes a
person susceptible to annoyance, sleep disturbance, aggression, and mental
stress.

Noise pollution can also cause tinnitus or the perception of sound
within the ear but without corresponding external sound. It can lead to
severe depression and sometimes, panic attacks. In extreme cases, like
those who live very near runways and factories, very loud noise can
damage a person’s ear drum, which can lead to hearing impairment. These
effects are more of psychological than physical.

13. Find out some facts about air pollution, water pollution, land
pollution, light pollution, radioactive pollution, thermal pollution on
the Internet.
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14. Wrrite a letter to match each idiom with its translation below.

[U—

Idioms are expressions that cannot be understood literally.

They have their special meaning.

____ rain cats and dogs

____ face like thunder

____ chase rainbows

_____ be snowed under

_____ be under the weather
_ twist in the wind
~under acloud

_____throw caution to the winds
_____inafog

. godown astorm

SOk W=

a) ynaThbcs

b) pacrepsHHBIN

C) mepectarb OCTOPOKHUYATH

d) ObITh IEpErpy>KEHHBIM PAOOTOM
€) THATbCS 32 HEAOCTHIKUMBIM

f) mpaunee Tyuu

g) TOJI IMOJI03PEHUEM

h) nuth kak u3 Benpa

1) TOMHUTBHCS

j) HexoMorarh

15. Complete the idioms with the words from the box.

[—

rainy, rain, weather, cloud, blue,
clouds, breeze , wind, storm, fast

1. B motHOM mopsizike — as right as ...

2. Ha gepnsiii nenp — for a ....day

3. Kak cHer Ha rosioBy — bolt from the ...

4. Ha cenpMOM HebOE OT cHacThsl — ON .....nine

5. [lepexxuth TpyaHBIC BpeMeHa — ... the storm

6. XonuTh 1o Kpato mpomnacti — sail close to the ...
7. bonrate o myctskax — shoot the...

8. MonnuenocHsi — lightning-. ..

9. Butath B o0akax — have one's head in the ...

0. Bypst B crakaHe BOJBI, MHOTO IITyMa U3 HUYETO —
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Unit 7
Biodiversity

1. Discuss these questions with your partner.
What language does the word «biodiversity» come from?
How can you define an extinct species? Give examples.

2. Pronunciation guide:
poodle [ pu:dl]
beagle [ 'bi:gl]
rottweiler [ rotwailo]
unique [ju: nik]
moggy ['mogi]
siamese [saio 'mi:z]
niche [ni:[]
fungi [ fangi:]
episode [ "episoud]
gene [d3i:n]

3. Read the text and find out what «biodiversity» means.
Biodiversity

Biodiversity is a word that (,.Qn
describes the variety of living things. ﬁ "ﬁ
«Bio» (from a Greek word) refers to “
living and «diversity» refers to _..V.‘.
differences and variety. Living things 3’?

and variety. o 4.
express their diversity in hundreds of ﬁ / ﬂ 11‘
different ways — both external and ﬂw\
visible and internal and invisible.

There are 3 kinds of biodiversity. ) ) ‘f“

— Variety of genes

Poodles, beagles and rottweilers are all dogs — but they’re not the
same because their genes are different. It’s the difference in our genes that
makes us all different.

— Variety among species

Scientists group living things into distinct kind of species. For
example, dogs, dragonflies, and daisies are all different species.

— Variety of ecosystems

Coral reefs, wetlands, and tropical rainforests are all ecosystems. Each
one is different, with its own unique species living in it. Genes, species, and
ecosystems working together make up our planet’s biodiversity.
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There is genetic diversity within a species, which results in the
differences between you and your brothers and sisters and cousins and
grandparents even though we all members of the human race — the species
Homo Sapiens. Genetic diversity is the reason why Siamese cats have
different body shape and hair colouring from the black and white moggy
next door.

There is evolutionary diversity, which has given rise to all the
different species of animals and plants on this Earth and is genetic diversity
on a wider scale. This is also known as species diversity.

Each species is adapted — and sometimes highly specialized — to
survive in a particular environment or a range of environments. Only the
human species, through cultural and racial diversity and technology, seems
to have adapted itself to survive in almost every environment on the Earth.

Many of the world’s different plants and animals are under severe
threat of extinction. Many species have already been lost. A species is said
to be extinct when it has not been seen for over 50 years. Dinosaurs became
extinct 65 million years ago but, in the last 50 years, more animals and
plants have become extinct, because of hunting and loss of habitat.
Globally, many hundreds of species will face extinction in a very few years
without intensive conservation, education and environmental management
and policy — making.

Much of the Earth’s great biodiversity is rapidly disappearing,
even before we know what is missing. Species of plants, animals, fungi,
and microscopic organisms such as bacteria are being lost at such
alarming rates that biologists estimate that tree species go extinct every
hour. Scientists around the world are cataloging and studying global
biodiversity in hope that they might better understand it or at least slow
the rate of loss.

VOCABULARY
4. Check if you know the key words:

Earth’s
biodiversity
to adapt

to inherit

to disappear
to estimate
extinct
fungus
particular
racial
rainforest

VVVVVVVVYVYVY

42



> extinction
> threat
> niche

5. Match the words to make phrases.

1) global species

2) severe diversity

3) genetic race

4) Siamese management

5) human cats

6) unique threat of extinction
7) environmental kind of species

8) distinct environment

9) particular conservation

10) intensive biodiversity

By the time — x Tomy BpemeHw.

CoueraHue HUCHONB3YETCSA, €CIM YTO-TO JOJDKHO NPOU30NTH WIH
IIPOU3O0IILIO K OMPEIEICHHOMY BPEMEHH.

On time — BoBpeMs.

CoueTaHne 03Ha4YaeT CIIYHKTYaJIbHOY», «TOYHO B HA3HAYEHHOE BPEMS»
U HCIONB3YeTCs, €CIM YTO-TO JOJDKHO IPOU30MTH B 3aIlIaHUPO-
BaHHOE (YCTaHOBJIEHHOE, (PUKCHUPOBAHHOE, COIIACOBAHHOE U T.II.)
BpEMS.

In time — BoBpems.

CoueTaHne 03Ha4aeT «CBOEBPEMEHHO ISl YETO-TO», «BOBPEMSI IS
Yero-To» U UCIOIb3yeTCs, €CIIM Mbl XOTHUM MOAYEPKHYTh CBOEBPEMEH-
HOCTb, HYKHBIN (yJauHbIi1) MOMEHT.

. Choose the correct words using the information above.

. The film starts at seven. I’ll be ...on time.....

. The bus was late this morning, which is unusual. It's usually ......

. George is usually late for work but this morning he arrived ......

. We had to get in the train without tickets because we didn't get to the sta-
tion ........ to buy them.

5. It's a very good train service. The trains always run ......

6. ...... we get there, the bank will be closed.

7. Please don't be late for the meeting. We want to begin ....

8.1liketo getup ...... to have a big breakfast before going to work.

9....... we got to the cinema, the film had already started.

L= O

43



GRAMMAR
7. Choose the correct form of the verb in each sentence.

1. Living organisms express / are expressing their diversity in
hundreds of different ways.

2. The difference in our genes makes / is making us all different.

3. Scientists group / are grouping living things into distinct kind of
species.

4. Much of the Earth’s great biodiversity disappears / is rapidly
disappearing.

5. Scientists around the world stud y / are studying global diversity in
hopes that they might better understand it.

6. Tree species go / are going extinct every hour.

7. Biodiversity describes / is describing the variety of living things.

8. Genes, species, and ecosystems working together make up / are
making up our planet’s biodiversity.

8. Write questions to the underlined words in the sentences.

1. There are 3 kinds of biodiversity.

2. Scientists group living things into distinct kind of species.

3. Biologists estimate that tree species go extinct every hour.

4. The human species seems to have adapted itself to survive in almost
every environment on the Earth.

5. Much of the Earth’s great biodiversity is rapidly disappearing.

6. Scientists around the world are cataloging global biodiversity.

7. Genes, species, and ecosystems working together make up our
planet’s biodiversity.

8. Genetic diversity within a species results in the differences between
you and your brothers and sisters.

READING
9.1. Read the text again and choose the correct answer.

1. Variety of genes makes us all ... .

a) differ b) different ¢) difference
2. Coral reefs, wetlands, and tropical rainforests are all... .
a) ecosystems b)populations c) habitats

3. There is ... diversity within a species, which results in the
differences between you and your brothers.
a) genetic b) evolutionary  c¢) cultural
4. There is ... diversity, which has given rise to all the different
species of animals and plants on this Earth.
a) evolutionary b) genetic ¢) cultural
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5. Each species is ... to survive in a particular environment.

a) inherited b) adapted c) disappeared
6. Dinosaurs became ... 65 million years ago.

a) extinct b) external ¢) internal
7. Three species go extinct every ....

a) hour b) minute ¢) hour
8. Much of the Earth’s great biodiversity is rapidly ....

a) disappearing b) increasing c) adapting

9.2. Complete the sentences from the text.

1. There are ... kinds of biodiversity.

2. A species is said to be extinct when it has not been seen for over ...
years.

3. Dinosaurs became extinct ... million years ago.

4. ... species have already been lost.

5. ... of the Earth’s great biodiversity is rapidly disappearing.

SPEAKING
10. Give the author’s definition of biodiversity and compare it with
your definition and your groupmates’ opinion.

WRITING
11. Answer the question: Is it a diagram, a pie chart, a table? Describe
it briefly using the phrases below. Make your own graph.

Known Species of Organisms
Total = roughly 1,800,000 species

Eubacteria Protists

\ Fungi
\ ‘ Plants

Animals

e This slide / shows /summazises data/changes/results;

o This slide gives/provides information about;

e The important thing here is;

e ]t is noticeable that;

e [t gives/doesn’t give any figures;

e To compare and contrast the items, use some of the following:—
more/less than ... — (bigger) than ... — (not) as big as ... — twice as
big/much as ... — rather than ... .
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INTERESTING FACTS
12. Read and discuss.

An ecosystem is a biological system that is made up of a community
of organisms (animals, plants, fungi, and microbes) and their environment.

o The living organisms in an ecosystem are known as its biotic
components.

« An ecosystem’s non-living components are known as its abiotic
components. These include: temperature, soil, topography (the ‘shape’ of
the land), and the amount of available water and light.

Earth’s ecosystems can be divided into two main types: terrestrial
and aquatic.

Terrestrial ecosystems are based on land. Examples of terrestrial
ecosystems include tropical rainforests, grasslands, tundra, and deserts.

Aquatic ecosystems are ecosystems based in water. The two main
types of aquatic ecosystems are marine and freshwater. Typical freshwater
ecosystems include lakes and rivers. Marine ecosystems include coral reefs,
coastal lagoons and deep sea environments.

13. Find out some facts about forest ecosystems or desert ecosystems
on the Internet.

14. Cross out one word that does not fit in each category below.

CATEGORIES
1. Words with suffixes
average sensitive protection attendance
2. Words with prefixes
adoptable uncertain colourful  promotion
3. Compound words
dashboard supplement airbags bathroom

4. Words with four syllables
pedestrians  information identify irritability

5. Plural

stems lens deer causes
6. Silent letters

science knead allow receipt
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Unit 8
History of English Garden

1. Discuss these questions with your partner.
When were the earliest cultivated English gardens planted?
Do you know any garden styles?

2. Pronunciation guide.
conqueror [' konk(o)ro]
palace ['pelis]
monastery ['monostori]
medieval [med'i:val]
ax [aks]
flora ['flo:ro]
fauna ['fo:no]
punctuate [' pan(k)tfoert]
Saxon ['saeksn]
Renaissance [ro'neisns]

3. Read the text and name the stages in the history of the English
garden.

History of the English Garden

Outstanding horticultural
works of previous generations
have always made way for the
style of the next so finding
unaltered examples of historical
gardens in England is nearly
impossible. But this is what makes Sl ' |
gardens so wonderful and varied. S - 4

So where did it all begin? Did e N
our earliest ancestors have N il i
gardens? i e

We know very little about the gardens of Anglo-Saxon England.
There are however, basic tools such as axes and sickles dating back
to the Neolithic age (2,500-1,500 BC) -around the time Stonehenge was
built.

The earliest cultivated English gardens that we know of were planted
by the Roman conquerors of Britain in the Ist century AD. During the
Roman Occupation, the Roman army introduced new flora and fauna
to British shores and although England's cooler climate definitely required
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a flexible approach, the Romans created gardens and introduced plants that
are still cultivated in English soil today. The best example is probably
Fishbourne Roman Palace in Sussex.

Latin makes up many of gardening terms, for example topiarus means
topiary. Indeed, it is highly probable that the Romans introduced topiary
to England.

The monastic gardening tradition arrived on English soil with the
Norman conquest of 1066. Monasteries had both kitchen gardens and herb
gardens to provide the practicalities of food and medicine. The monastery
cloister provided an open green space surrounded by covered walks,
generally with a well, or fountain at the center.

The next stage of the English garden came after the Reformation.
Many landowners enclosed common land to create parks for keeping deer
or cattle. This ‘natural’ landscape gave way to formal gardens near the
house, still sheltered from the outside world by hedges or walls.

The Tudors followed the Italian influence in creating gardens which
mirrored the alignment of the house, creating the harmony of line and
proportion that had been missing in the Medieval period.

The Victorian period also saw a profusion of public gardens and green
spaces aimed at bringing culture to the masses. Some of the finest Victorian
gardens are public parks, like People’s Park Halifax.

Gardening has always been a matter of personal taste. Yet, throughout
Britain there are gardens great and small, formal and informal, private and
public, that illustrate the British passion for creating green, growing spaces
of their own. All are different, and all like their owners and creators, have
a distinct personality.

VOCABULARY

4. Check if you know the key words:
aim

castle

fauna

fence

flora
gardening
horticultural
topiary
landowner
medieval
monastery
palace
Renaissance
Stonehenge

VVVVVVVVVVYYVYYYVYY
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5. Match the words to make phrases.

1) to introduce _____asimple green place
2) to be planted _____ at bringing culture to the masses
3) to provide ____ the British passion for green spaces
4) to become ____ the practicalities of food and medicine
5) to be aimed _____aprofusion of public gardens
6) to have _____new flora and fauna
7) to illustrate _____adistinct personality
8) to give way ___ to formal gardens
9) to create ___ with fruits and vegetables
10) to see ___ parks for keeping deer

Have gone to

KoncTpykuus ynorpeOsieTcs 11 BeIpakeHusl (pakTa mocenieHus
KaKoro-amu0o MCCTa, UMCCT 3HAYCHUC, YTO «KTO-TO YCXaJl U CIIC HC
BEPHYJICS.

Have been to

KoncTpykiiust yrnotpeosieTcst sl BhIpakeHHs (DaKTa Mo CemeHs
KaKoro-ian0o MCCTa, UMCCT BHAYCHUC, UTO «KTO-TO CbC3INJI U BCPHYJICA
00paTHOY.

Have been in

KoHncTpykiust yroTpeoisieTcst sl BhIpaKeHHs (DaKTa Mo CeImeHs
KaKoro-in0o MCCTa, UMCCT BHAYCHUC, UTO «KTO-TO YCXAJ U JKUBCT TaM».

6. Choose the correct words using the information above.

1. 1 ... have been ... to Australia.

2. I haven’t seen Victor for several days. Where ... he ...?

3. He ... London. He’ll be back next week.

4. ... youever ... London?

5. Kate ... Paris for 5 months now, learning French.

6. This team isn’t at college this week. They ... a conference.
7. She ... the mountains twice.

8. He ... Australia for two years.

GRAMMAR
7. Put each verb in brackets into a form of Present Perfect.

1. He ... hasn’tarrived ... yet.

2. Outstanding horticultural works of previous generations (make)
always way for the style of the next.

3. No Tudor gardens (survive) intact.
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4. Gardening (be) always a matter of personal taste.
5. It 1s the first time I (plant) a tree.

6. They aren’t at home, they (go) to the garden.

7.1 (read) this book twice.

8. We never (visit) the Harris Garden before.

8. Put each verb in brackets into either Present Perfect or Past
Simple.

1. 1....decided... to change a job.

2. Are you sure we (come) to the right place?

3.1 (leave) my bag here earlier.

4. We (have) some coffee and then (catch) the bus home.
5. Recently a lot of young people (take up) kite surfing.
6. When they (go) the park?

7. You (see) my calculator?

8. I (be) excited to take part in the contest yesterday.

READING
9.1. Read the text again and choose the correct answer.

1) Stonehenge was built in ...
a) 2,500-1,500 BC b) 2,500-2,000 BC c¢) 2,000-1,500 BC
2) The earliest English gardens were planted by ...

a) Anglo-Saxons b) Romans c) Italians
3) ... makes up many gardening terms.

a) French b) Latin c¢) Dutch
4) The Tudors followed ... influence in creating gardens.

a) French b) Italian c) Roman

5) Some of the finest Victoria gardens are public parks, like ...

a) Fishbourne Palace  b) People's Park c) Hampton Court Palace

6) Gardening has always been a matter of ... taste.
a) public b) personal c) historical

9.2. Complete the sentences below in your own words.

1. The earliest English gardens were planted by ...

2. During the Roman Occupation, the Roman army introduced ...
3. Latin makes up ...

4. Monasteries had both ...

5. The next stage of the English garden came ...

6. The Victorian period ...

7. Great and small, formal and informal gardens illustrate ...
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SPEAKING
10. Compare the different stages in the history of the English garden.
Illustrate it in some examples.

WRITING
11. Write a report on your research into the use of __in the parks.
Use the plan below.

The purpose of our research was
We wanted to find out

We chose....because

First

Then

Finally

We found that

INTERESTING FACTS
12. Read and discuss.

REGENT’S
PARK

The Regent’s Park combines large open spaces with tree-lined pathways,
formal gardens, and four children’s playgrounds. It has excellent sports
facilities, and contains central London’s largest outdoor sports area.

Queen Mary’s Garden occupies a large area of this royal park and
houses London’s biggest rose collection, with more than 85 varieties and
over 12,000 individual flowers on display.

The gardens are named after the wife of King George V and opened
to the public in 1932. They provide a peaceful and tranquil setting, as they
are surrounded by strategically-placed shrubs that give the gardens a more
private feeling.
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The royal park’s other standout features include the Avenue Gardens,
which are particularly beautiful in the spring, while nearby Primrose Hill
offers some stunning views across the UK capital.

13. Find out some facts about the most glorious gardens from around
the world on the Internet.

14. Find and circle the hidden words in the puzzle below. The words
can go up, down, across, backward or diagonally.

_____HYDE PARK _____royal
__ KENSINGTON GARDENS __ fountain
~_ GREEN PARK ___ statue
ST JAMES PARK _____ flowers
_____REGENT’S PARK 700

SSTYUKENSINGTONGARDENSPAGHKIL
DFGHHJKUTLKIUJHROYALMJHUYGBN
FLGVBNMIKLLIGFCQWERMNCZAWU
LDNHGYZALYHNMKLOIEWXFGZOOA
OAPYOUKMUIFLOWERSKILLPOUYRA

WQPDHGREENPARKTRESDCVBNHGL
EYTEAFFFSLOOOTTTYYYWEDRFTGF
RLKPYHGIPAARFOUNTAINMFFFOOO
SFISAVVIOAKJJJJJUUUTEWQSSDBNMI
IKISRHGIERRNKKOOLREGENTSPARKO
BBKKVVSKYUASDFPPOOUURREEAA

15. Complete the poem and guess the name of the park.

Swans, pelicans and geese
Have found their house
Among beautiful tr

The lake is the place

Where they s~ and eat
There everybody canm_
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Unit 9
The Tree Comes of Age

1. Discuss these questions with your partner.

What processes are similar in plants and animals?

Can you describe the process of photosynthesis?

2. Pronunciation guide:

digestion [dai'zest[on]

carbon dioxide['ka:bon] [da1 pksaid]
nutrition ["nju:trifon]

chlorophyll ['klorofil]

dextrose [ dekstrouz]

hemoglobin [ hi:ma'gloubin]

starch [sta:t/]

acid ['esid]

blood [blad]

enzyme [ enzaim]

3. Read the text and find which examples illustrate the importance of
the topic.

The tree comes of age

Our tree gradually becomes
taller and broader, and in the course PhC’JrC’SY”JrhESiE‘
of time it reaches maturity. The 9
complicated mechanism functions e \ﬁ%f
with the precision of a machine, and oargy “"*"\!{\ -
its many vital processes are well
coordinated.

Some of the processes, such as water
respiration or digestion of fats, are :
strikingly similar in both plants and ﬂl
animals. Others, as mineral nutrition, corbon dhoda
are found only in the plants.

Let us consider first the process of photosynthesis — that is,
the building with the energy of light. In this process, organic matter is
formed literally from thin air and water. The air contains minute amounts
of carbon dioxide (0.03 percent by volume or three parts in 10,000 parts
of air). Through millions of small pores, or stomata, on the leaf surfaces,

N
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air penetrates the leaves and gives up about 10 percent of its meager supply
of precious carbon dioxide to the tree. Small particles are found in the leaf
cells called chloroplasts; these contain a green substance (chlorophyll)
similar in structure to the hemoglobin of the blood. In fact, in reflected light
chlorophyll appears not green but blood red.

Carbon dioxide unites with the chlorophyll and in a chain of reactions,
regulated by the enzymes; it combines with oxygen and hydrogen of water
to form sugar. An excess of oxygen is released in this process. The energy
that is needed for transformation of carbon dioxide and water into the
organic substance (sugar) is supplied by sunlight. Only about 1 percent of
the solar energy that falls on a leaf is used for photosynthesis. The sugar
formed in the process of photosynthesis is dextrose. From it 95 percent of
the body of the tree is ultimately made by a series of complicated reactions.
Dextrose may be converted into other sugars or it may be combined with
nitrogen to form the amino acids, the building blocks from which proteins
are made and on which all life, both plant and animal, depends. Part of the
dextrose is also used for other purposes, such as conversion into starch,
fats, and other substances.

VOCABULARY
4. Check if you know the key words:

» acid

> excess

» carbon dioxide
» chlorophyll

» hemoglobin

» photosynthesis
» digestion

» nutrition

» respiration

» to appear

» to convert

» to release

» starch

» dextrose

5. Match the words to make phrases.

1) complicated ____ matter

2) vital ____ substance
3) mineral _air

4) organic _ light
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5) minute energy

6) small ____mechanism
7) thin ______amounts
8) a green ______nutrition
9) reflected ______processes
10) the solar ___ particles
Would

I'maron MoXeT MCMONb30BATHCS HE TOJIBKO MPU ONHCAHWUU IOBTOPSIO-
LIUXCS JIEHUCTBUM, HO TAKXKE U IPU OMMCAHUU MOBTOPSIOMINXCA CUTYya-
i (coctostamii). Ecnm e peusb uaet 006 OqHOM CUTyaIluu, OJHOM JIJTH-
TEJILHOM COCTOSIHUH, «would» He MOKeT ObITh UCIIOJIb30BAH.

Used to — panbiie, ObiBaio.

O06opoT ucCnoNb3yeTcs MPU OMUCAHUU COOBITHI, KOTOPHIE PErYISIPHO
MPOUCXOAWJIA B TIPOIUIOM, a TIOTOM TMPEKPATUIUCH JHOO0 Ha BpeMs,
b0 CcOBCeM, a TakKKe IMpPU OMUCAHUMU COCTOSHUM, KOTOpbIE HMMEINU
MECTO B IPOIILIOM, & TOTOM U3MEHWIUCH (10 KpallHEel Mepe, Ha HEKO-
TOpOE BpeMsi) U TpeOyeT nocie ceds ungumusa.

be used to — mpuBBIKATH.

O6opot ynoTpeOmsieTcst 1Jisi BRIpAKEHUST JEHCTBUN, CTABIIUX MPUBBIY-
HBIMH, WCIIOJIb3YETCS JUIsl OMUCAHUS YETrO-TO OOBIYHOIO, NMPUBBIYHOTO,
HE KaXYILErocs HaM CTPaHHBIM U TpeOyeT mocie ceds cywecmsaumens-
HO20 UNU 2epYHOUsL.

get used to / be getting used to — mpuBBIKATE.

O6opot ynotpeOnsieTcst 1Jisl BhIpaKeHUsl JEHCTBUM, CTABIIUX MPUBBIY-
HBIMH, UCIIOJIB3YETCS JIJIsl OMMCAHUS MpoLEecca MPUBBIKAHUSA K YEMY-TO,
YTO Ka3aJIOCh CTPaHHBIM, a TETEPh MOCTETICHHO HE KaXeTcs, U TpeOyeT
nocJie ceds cyuecmeumenbHo20 Uiy 2epyHOUs.

6. Choose the correct words using the information above.

1. He...used to.... drink much coffee.

2. Every summer| ...... live in a country house.

3.Tam..... to waking up at 10 every day.

4. I found Polish food very strange at first but [ was ......... to it.
5. When he spoke to me I .....not understand anything.

6.1...... to have an MP3 player. Now I just listen to music online.
7.1am .... to this noise.

8. Gaby ...... to be overweight. But now she looks fit.
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GRAMMAR
7. Read and translate the sentences below. Pay your attention to
the verbs in the Passive Voice.

1. Mineral nutrition is found only in the plants.

2. Organic matter is formed from thin air and water.

3. Many vital processes are well coordinated.

4. The energy that is needed for transformation of carbon dioxide and
water into the organic substance is supplied by sunlight.

5. Dextrose may be converted into other sugars.

6. Small particles are found in the leaf cells called chloroplasts.

7. It may be combined with nitrogen to form the amino acids.

8. An excess of oxygen is released in this process.

8. Choose the correct form.

1. Many vital processes (are well coordinated / coordinate well).

2. Air (is penetrated / penetrates) the leaves.

3.Only about 1 percent of the solar energy (is used / uses) for
photosynthesis.

4. Dextrose (may convert / may be converted) into other sugars.

5. Part of the dextrose (is used / uses) for other purposes.

6. These (are contained / contain) a green substance.

7. The energy is supplied (by/for) sunlight.

8. From dextrose 95 percent of the body of the tree is made (by/for)
a series of complicated reactions.

READING
9.1. Read the text again and choose the correct answer.

1. Respiration is ..... in both plants and animals.

a) different b) various c) similar

2. Mineral nutrition is found in ....
a) plants and animals  b) plants c) animals

3. In the process of ...organic matter is formed from air and water.
a) respiration b) digestion c) photosynthesis

4. Trough millions of small pores air... the leaves.
a) converts b) penetrates c) forms

5. Chloroplasts are ... in structure to the hemoglobin in blood.
a) similar b) red c) green

6. ... combines with oxygen and hydrogen of water to form sugar.
a) carbon dioxide b) amino acids  c¢) dextrose
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7. Only...percent of solar energy is used for photosynthesis.

a) 10 b) 5 c) 1
8. Dextrose may be ...into other sugars.
a) used b) converted c) divided

9.2. Read and say if the following sentences are true, false or they
don’t have the information.

1. Gradually the tree reaches maturity.

2. Many vital processes in a tree are well coordinated.

3. The process of photosynthesis is the building of hydrogen with the
energy of light.

4. The air contains the minute amounts of CO,.

5. Sunlight is composed of the various colours seen in a rainbow.

6. In the leaf cells are found large particles called chloroplasts.

7. The sugar formed in the process of photosynthesis is starch.

8. Dextrose may be converted into other sugars.

SPEAKING
10. Prove the importance of the process of photosynthesis. Give your
examples.

WRITING

11. Answer the question: Is this mind map for an argumentative essay,
critical essay or compare essay? Write your essay using the outline
below.
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\ VA MES

Your outline might look like this:

o Introduction

o Body Paragraph 1: Discuss first difference between woods and
beaches: climate/weather.

« Body Paragraph 2: Discuss second difference between woods and
beaches: types of activities.

o Body Paragraph 3: Discuss third difference between woods and
beaches: available facilities.

« Conclusion
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INTERESTING FACTS
12. Read and discuss.

JOSEPH
PRIESTLEY —
an English chemist,
natural philosopher,
separatist theologian,
grammarian,
multi-subject educator,
and liberal political theorist.

How did scientists discover photosynthesis? The important experi-
ment was made by the English scientist Joseph Priestley back in 1771.
He placed the mouse under the cap and five days later it died. Then he
again placed another mouse under the cap, but this time there was a sprig of
mint under the cap together with the mouse, and the mouse survived.
«There is a process opposite to breathing» — thought the scientist after this
experiment. Another important conclusion of this experiment was the
discovery of oxygen, as vital to all living creatures (the first mouse died
from its absence, the second survived, thanks to a sprig of mint, which
produce oxygen in the process of photosynthesis).

Then, back in 1782, the Swiss scientist Jean Senebier proved that car-
bon dioxide decomposes in the green organelles of plants under the influ-
ence of light. Then, after another 5 years, the French scientist Jacques
Busengo discovered that the absorption of water by plants occurs during
the synthesis of organic substances. And the final step in a series of scien-
tific discoveries related to the phenomenon of photosynthesis was the
discovery of the German botanist Julius Sachs. He proved that the volume
of carbon dioxide consumed and oxygen released occurs in a 1:1 ratio.

13. Find out some interesting facts about the scientists and their
discoveries on the Internet.

14. Match (1-8) with the numbers on the right. Pay your attention to
the information in brackets on the left.

Math (mathematics)

1. Five times three 1s fifteen. 1.25

2. Two plus two 1s four. 5%x3=15
3. Three fourths (of a mile). 2+2=4
4. One and a quarter (bottles). 3

5. One point two five. 20%

6. Ten percent. 1%

7. Twenty percent (of the students are present). Ya

8. Three squared = three to the second power. _10%
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Unit 10
A Chance for Seeds to Germinate

1. Discuss these questions with your partner.

When do seeds germinate?
Why are leaves green?

2. Pronunciation guide:

require [ri'’kwaio]

chance [tfa:ns]

rainbow ['reinbou]
spectrum ['spektrom]
stimulate ['stimjuleit]

stir [sto:]

bare [beo]

germination [d3o:mi'neifn]
canopy ['kanopi]
understory [ Andosto:r1]

3. Read the text and find out the words from Pronunciation guide and
translate the sentences with these words.

A chance for seeds to germinate

Fortunately for the
understory, the dormant trees
sleep until later into the spring.
By the time the trees arose
themselves, the understory has
enjoyed several weeks of early
springtime growth, and seeds
that survived winter in the soil
have had an opportunity to
germinate.

Seed germination requires warm soil temperatures and plentiful
water, both of which occur at this time of year. If, by chance, seeds should
germinate in summer, the dim light on the forest floor often causes
seedlings (newly germinated, baby plants) to grow with spindly stems and
poorly developed leaves. Their chances for survival are slight.

The best time of year for seeds to germinate in the forest is early
spring. By the time the canopy closes, the young plants are strong, well
established, and able to survive for several months in the shade.
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When a seedling grows in full sun, its stem is short and thick, the
leaves are closely spaced, and they are green and fully expanded. The same
plant in heavy shade has a thin, stretched-out stem bearing small, pale
leaves.

Plants spend a lot of time and energy making seeds, because it is from
them that the next generation grows. Many forest species have seeds with a
built-in system that promotes germination in spring and prevents wasteful
germination under the canopy in summer. This system depends on red light
reaching seeds on the forest floor.

Sunlight is composed of the various colors seen in a rainbow. When
light enters a leaf, the red and blue parts of the visible spectrum are trapped
by leaf pigments. (The pigments channel the light's energy into food
production in photosynthesis.) Under a heavy leaf canopy, very little red
light reaches the ground, but green wavelengths pass right through the
leaves. That is why leaves look green.

Many seeds possess special chemicals that, when stimulated by red
light, start the seeds' germination. This happens in springtime in the forest,
before the dominant trees have opened their new leaves. When the sun's red
wavelengths reach and penetrate into the soil, the waiting seeds are stirred
into activity.

In winter and spring in a deciduous forest, most of the sunlight reaches
the soil between the trees' bare branches. When the snow melts and the
soil warms in spring, red wavelengths in sunlight waken dormant seeds.
In summer, the leaf canopy filters the sunlight. Very little red light
penetrates to the forest floor. The green wavelengths that do reach the
ground have no effect on seed germination.

VOCABULARY
4. Check if you know the key words:

canopy
understory
dormant
dominant
generation
germination
to germinate
to trap

to stir

to require
growth
seedlings
survival
visible

VVVVVVVVVVVYVYVY
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5. Complete the sentences below with the words from the box.

germinate, soil, light, grows, green, red, germination,
dormant, seeds, sun, rainbow

1. Seeds that survived in winter in the soil have had an opportunity
to ... germinate ... .

2. Seed germinations requires warm ... temperatures and plentiful
water.

3. The best time of year for ... to geminate is the forest is early spring.

4. Plants spend a lot of time and energy making seeds, because it is
from them that the next generation... .

5. When a seedling grows in full ..., its stem is short and thick,
the leaves are closely spaced.

6. Sunlight is composed of the various colours seenina ... .

7. When ... enters a leaf, the red and blue parts of the visible spectrum
are trapped by leaf pigments.

8. Very little ... light reaches the ground, but ... wavelengths pass
right through the leaves.

9. Many seeds possess special chemicals that, when stimulated by red
light, start the seeds’ ... .

10. When the snow melts and the soil warms in spring, red wavelengths
in sunlight waken ... seeds.

Like — apaBuTHCS.

Korna mmaron ymorpeGisiercss B 0O0IIeM 3HAY€HHUH, TO TOCIE HETO
HY)KHO yMOTpeOJIsATh CyIIeCTBUTENFHOE HIIH IJ1aroll C OKOHYaHueM ing.
Korza MbI TOBOpUM 0 4€M—TO, YTO MBI ‘IOOMM’ B OIPEEIIEHHOE BPEMSI
100 B ONpENeJIeHHOM MECTe, TOrJa Mbl YHOTpeOssieM HayalbHYIo
¢dbopmy rmarona ¢ yactuiei to.

would like (love) to — oueHb XOTETh YTO-TO

[locne naHHOW KOHCTPYKIMHM HCIOJB3YETCSl CYIIECTBUTEIBHOE WIIH
MHQUHUTUB C yacTuleil to.

6. Choose the correct words using the information above.

1. 1... like ... swimming.

2. They ... listening to music.

3. They ... to listen to music in the mornings.
4. ... you ...to join our team?

5.1... acup of coffee.

6.1 ... strong coffee.
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7. Do you ... tea? If so, you should try Earl Grey.
8. We ... to go to London.

GRAMMAR
7. Put each verb into the form of Participle | and Participle I1.
listen — listening hope — hoped
reach develop
speak start
sit stop
see play
write study
lie get
tie come

8. Choose the correct form. Is it Participle I or Participle 11?

1. They are green and fully expanding / expanded.

2. The dim light on the forest floor often causes seedlings to grow
with spindly stem and poorly developing / developed leaves.

3. The young plants are well establishing / established.

4. The leaves are closely spacing / spaced.

5. Plants spend a lot of time and energy making / made seeds.

6. The system depends on red light reaching / reached seeds on the
forest floor.

7. Many seeds possess special chemicals that, when stimulating /
stimulated by red eight, start the seed’s germination.

8. When the sun’s red wavelengths reach and penetrate into the soil,
the waiting / waited seeds are stirred into activity.

READING
9.1. Read the text again and say it the following sentences an true, false
or trey don’t have that information.

1. The dominant trees sleep until later into the spring.

2. Seed germination requires hot soil temperatures.

3. By the time the canopy closes, the young plants are able to survive
for several months in the shade.

4. Many forest species have seeds with a built-in system.

5. This system depends on green light reaching seeds on the forest
floor.

6. When light enters a leaf, the green parts of the visible spectrum are
trapped by leaf pigments.

7. Many seeds possess special chemicals that, when stimulated by red
light, start the seeds’ germination.
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8. When the sun’s red wavelengths reach and penetrate into the soil,
the waiting seeds are stirred into activity.

9.2. Complete the sentences.

1. Seed germination requires warm soil temperatures and ... water.
a) plentiful b) plenty ¢) plain
2. The dim light on the forest floor often causes to grow with ...

a) short b) thick ¢) spindly
3. When a seedling grows in full sun, its stem is short and ...
a) short b) thick ¢) thin

4. The same plant in ... shade has a thin, stretched-out stem bearing
small, pale leaves.
a) heavy b) high c¢) dark
5. This system that promotes germination in spring and prevents
........ germination under the canopy in summer.
a) wasteful b) plentiful c) colourful
6. Sunlight is composed of the ... colors seen in a rainbow.
a) furious b) various c¢) famous
7. In winter and spring in a ... forest, most of the sunlight reaches the
soil between the trees' bare branches.
a) evergreen b)coniferous ¢) deciduous
SPEAKING
10. Define the term «seed germination» and its value for plants.

WRITING
11. Write recommendations how to water plants. Use some words
below.

should shouldn’t
dry soil clay soil wet check
younger plants older plants
look at choose in the morning
on the roots water leaves
slowly fast
watering can use hose
waste water damage
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INTERESTING FACTS
12. Read and discuss.

How
to plant
LEMON SEEDS

Lemons can be easily grown from seed and are a wonderful looking
plant. You can propagate the seeds directly in soil. Prepare your potting soil
in a separate bucket. Pour some soil into a large bucket and add water to it
until it 1s damp. Mix the soil with your hand or towel until it is evenly
damp. Do not allow the soil to become soggy, or the seeds will rot. Lemon
trees love water, but they hate to sit in it.

Fill the pot with soil. Stop when the top of the soil is about 1 inch
(2.54 centimeters) from the rim. Make a %z inch (1.27 centimeter) deep hole
in the soil.

Choose a plump-looking seeds from a lemon. It may be necessary to
use an organic lemon because seeds from a non-organic lemon may not
sprout. Wash the seed to get rid of the slimy coating. Drop the seed into the
hole and cover it up. Cover the pot with a piece of breathable plastic to trap
warmth and moisture. Place the pot in a warm location. The ideal
temperature is between 68°F and 82.4°F. Remove the plastic covering once
the sprout appears.

13. Find out some facts how to plant sunflower seeds, apple seeds,
pumpkin seeds, etc on the Internet.

14. Choose the word from the box that matches each abbreviation. You
will not use all the words in the box.

Abbreviation is shortened form of a word or phrase.

milligram gram megaliter inch ounce into quantity grain
kilogram quart milliliter yard teaspoon tablespoon ozone

1. ml 6. 0z.
2. kg 7. qt.
3.mg 8. tbsp
4.9 9. tsp
5.1n 10. yd
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Unit 11
Monarch without a Kingdom

1. Discuss these questions with your partner.

What do you know about the Monarch butterfly?
Why does it face extinction?

2. Pronunciation Guide:

Mexico [ ‘'meksikou]
fragile ['fraeedzail]
journey ['d3 o:ni]
calendar ['kaelond9]
delicate ["delikat]
creature [ 'kri:ff9]
maize [meiz]
campaign [kem'pein]
hectare [ "hekta:]
threaten ['Oretn]

3. Read the text and find out the words from Pronunciation Guide.
Translate the sentences with them.

Monarch without a kingdom

This November, a hundred
million butterflies will drop from the
sky over Mexico, like autumn leaves.
But for how long? Genetically
modified maize could mean extinction
for this beautiful butterfly.

Although its body is about 3 cm
and it only weighs 1 g, the Monarch
butterfly manages to travel 5,000 km
each year. It seems to be so fragile, but
its long journeys are proof of its
amazing ability to survive.

This autumn, the Monarch butterfly will once more set out on its
journey from the US. It will keep going until it reaches Mexico. 1...

In November, millions of Monarchs fall like bright, golden rain onto
the forests in the mountains of central Mexico. In the silence of these
mountains you can hear a strange flapping of wings, as the Monarchs arrive
at their destination. 2...
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Before reaching their journey’s end they have faced strong winds, rain
and snowstorms and they do not all manage to reach their destination.
When the winters are really bad, perhaps 70 per cent of them will not
survive. Their long journey to Mexico is thought to be one of the most
amazing events in the whole of the American continent. When they get
there they will stay until the beginning of April, when their internal
calendar tells them that it is time to go back. 3...

These delicate creatures now face danger of another kind — from
scientific progress. 4...

Laboratory experiments have shown that half of the butterflies which
feed on the leaves of genetically modified maize die within 48 hours.
Not all experts agree that this variety of maize is responsible for the threat
to the Monarchs. 5...

Greenpeace is campaigning against genetically modified products
(in Spain, there are already 20,000 hectares of modified maize). The
environmental organization recently published a list of 100 species of
butterfly in Europe alone which are threatened with extinction.

VOCABULARY
4. Check if you know the key words:

» butterfly

> fragile

» monarch
» delicate

» destination
» genetically modified products
» journey

> maize

» to feed

> to arrive

» to modify
» to reach

> to survive
» to threaten

5. Match these words with their definitions.

1) maize ____to change something

2) to survive ___toreach aplace

3) wing ____ to be affected by something bad

4) to arrive ___to give food to an animal

5) destination ____to deal with problem

6) to face ___atall plant that produces yellow seeds
7) extinction ____one of the parts on a bird (an insect)
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8) to feed ___ the situation when an animal (a plant) no
longer exists
9) to threaten ___to live in spite of danger
10) to modify ___ the place where someone is going

Notice — 3ameuath, oOpalaTh BHUMaHHE.

['maros umeet 000O0IIAOIIIEE 3HAUYECHHE.

Note — oOpamars BHUMaHUE.

I'marom uMmeeT Takoe ke 3HAYCHHUE, KaK «notice», ¢ JOMOJHUTEILHON
XapaKTePUCTUKOMN «3alIOMHUTD YTO-THO0 Ha OyayIee.

Take (no) notice (of) —xe oOpamars BHUMaHUE.

Bripakenne ynoTpeOnsieTcsi B OTPUIATEIIBHBIX TPEIIOKEHUIX, KOT/Ia
MoJIpa3yMeBacTCs HAMEPCHHBIH OTKa3 OT TOro, 4TOOBI OOpaTHThH
BHUMaHHE HA 4TO-JIHOO.

Pay your attention (to) — oOpariats BHUMaHHE.

BrIpakeHHE 00BIYHO YITOTPEOISICTCS TOIBKO B 3HAUCHUH «00paIiarh
BHUMaHHUE Ha YTO-JTHO00», PEIKO YIOTpeOIIsieTCs: B pa3rOBOPHOI peun,
TaK KaK OrpaHUYEHO paMKaMH MTMCbMEHHOTO ()OpMabHOTO CTHIIA.

6. Choose the correct words using the information above.

1. I wish you'd ... pay more attention .... to your work.

2. The seller can see that the boy wanted to speak to her, but he took no
... of him.

3. Sue was wearing a new hat, but Tim didn't even ... .

4. Don't ... any ... of her sarcastic remarks.

5. ... the use of the indefinite article in this sentence.

6. Please ... that this bill must be paid within five days.

7. The authors ... great ... to historical detail.

8. We ... ed that Tom left the party early.

GRAMMAR
7. Choose the correct form of the verbs.

1. This November, a hundred million butterflies drop / will drop from
the sky over Mexico.

2. This autumn, the Monarch butterfly sets out / will set out on its
journey from the US.

3. It will keep going until it reaches/ will reach Mexico.

4. When the Monarchs get / will get there they will stay until the
beginning of April.

5. When the winters are /will be really bad, perhaps 70 per cent of them
will not survive.
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8. Put each verb in brackets into a form of Future Simple, Present
Continuous or going to. More than one answer may be possible.

1. Have you heard the news? Harry ... is joining / is going to join
the army!

2. Sorry to keep you waiting. I (not be) long.

3. According to the weather forecast, it (snow) tomorrow.

4. I’'m sorry I can’t meet you tonight. I (go out) with my parents.

5. Our teacher (give) us a test tomorrow.

6. In fifty years’ time, most people probably (ride) bicycles to work.

7.1 (go) to Manchester at the end of next week.

8. I think our team probably (win).

READING
9.1. Read the text again. Answer these questions.

1. In which countries does the Monarch live?
2. How far can it travel when it migrates?

3. What problems does it face on its journey?
4. What time of year does it travel?

5. Why does it face extinction?

9.2. Five sentences are missing from the text above. Choose from the
sentences A — E the one which best fits each gap 1-5.

A 1t travels these huge distances to escape the cold weather in the
north.

B In the US, millions of farms grow genetically modified maize
which is pure poison for the butterfly.

C In the mountains, which reach a height of 3,000 m, the butterflies
are safe.

D In sprite of these doubts, the European Union has refused to
approve new crops of genetically modified maize until further
investigations have been carried out.

E The long journey, with all its dangers, begins again.

SPEAKING
10. Speak about the Monarchs’ journey.

WRITING
11. Follow the instruction how to make a butterfly, then write your
own one.

e Fold the square paper in half, then open it and fold it in half the other
way.

¢ Fold the paper in half diagonally, open it, and fold on the other
diagonal.

¢ Bring the right and left creases together, creating a triangle.
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e Fold the 2 top corners into the center.

¢ Flip the triangle over and fold the bottom up, leaving a small tip
showing.

¢ Bend the top layer of the tip over the base.

e Pull down the pieces from the bottom layer to create the lower wings.

INTERESTING FACTS
12. Read and discuss.

LADYBUGS

4
L — —

There are nearly 5,000 different kinds of ladybugs worldwide. Their
distinctive spots and attractive colors are meant to make them unappealing
to predators. The spots fade as ladybugs get older. They have short legs and
antennae.

Ladybugs hibernate for the winter. In winters, they do not eat and sur-
vive on their stored fat. They come in many colors like pink, yellow, white,
orange and black. Ladybugs even use their feet to smell. They beat their
wings 85 times a second when they fly.

Ladybugs are a great natural pesticide and are even sold commercially
as such. They eat very small insects called aphids which can destroy crops
and other plants. When a ladybug is attacked, it can squirt a foul-smelling,
bitter-tasting yellow liquid out of the knee joints in its legs. The smell
warns birds and other insect-eaters that’s why the ladybug is poisonous.

13. Find out some amazing facts about the insects on the Internet.
14. Complete the diagram with a phrasal verb using the words from

the box.

A phrasal verb is the combination of two or three words from different
grammatical categories — a verb and a particle, such as an adverb or a
preposition — to form a single semantic unit on a lexical or syntactic level.

establish, depart, start, postpone
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Unit 12
Conservation and Recycling

1. Discuss these questions with your partner.

Why is it important to conserve natural habitats and populations?
What do you know about recycling?

2. Pronunciation guide:

harvesting ['ha:vistin]
poacher ['pavt[9]
endangered [in' deindzod]
quota ['kwovto]

ancient ['einf(o)nt]
poisonous [' po1zonas]
manufacturing
[meenju'fektforin]

quality ['kwolati]
conservation [konso verf(o)n]
recycling [ri: ‘saikliy]

3. Read the text and say if you agree with the author.

Conservation and recycling

Conservation and recycling are
all about what humans can do to
reduce our impact on the

environment. Conservation is
important for protecting nature and
culture.

Conservation measures protect
species by maintaining their habitats
and protecting them from poachers
and over-hunting/over-harvesting.

There are several reasons why it’s important to conserve species and
natural habitats:

— Protecting endangered species.

Many species are now endangered, often due to hunting and
destruction of their habitats. They need to be protected to stop them
becoming extinct.

— Protecting the human food supply.

Overfishing is greatly reduced fish stocks in the sea. Conservation
measures (e.g. quotas on how many fish can be caught) encourage the
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survival and growth of fish stocks. This protects the food supply for future
generations.

— Maintaining biodiversity.

Conservation measures in a woodland habitat may include:

— Coppicing — this is an ancient form of woodland management.
It involves cutting trees down to just above ground level. The stumps
sprout straight, new stems which can be regularly harvested.

— Reforestation — where forests have been cut down in the past, they
can be replanted to recreate the habitat that has been lost.

— Replacement planting — this is when new trees are planted at the
same rate that others are cut down. So the total number of trees remains
the same.

Recycling conserves our natural resources. If materials aren’t recycled
they get thrown away as waste. This means that:

There 1s more waste, so more land has to be used for landfill sites
(waste dumps). Some waste is toxic (poisonous). So this also means more
polluted land.

More materials have to be manufactured or extracted to make new
products (rather than recycling existing ones) — using up more of the
Earth’s resources and more energy.

Recycling uses up less of the Earth’s natural resources. Recycling
processes usually use less energy and create less pollution than
manufacturing or extracting materials from scratch. Recyclable materials
include metals, paper, plastics and glass.

There are some problems with recycling. First, recycling still uses
energy, e.g. for collecting, sorting, cleaning and processing waste. Second,
some waste materials can be difficult and time-consuming to sort out,
e.g. different types of plastic have to be separated from each other before
they can be recycled. Finally, in some cases, the quality of recycled
materials isn’t as good as new materials, e.g. recycled paper.

VOCABULARY
4. Check if you know the key words:

» to conserve

» to maintain

» to endanger

» coppice

» harvesting

» human

» manufacturing
» measures

» natural

» poacher
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» poisonous

» to recycle

» waste

» reforestation

5. Match these words with their definitions.

1) poacher ____ to cut trees regularly to ground level

2) harvest ____ the useless materials, substances

3) to conserve _____containing poison

4) waste ___ to keep things apart from each other

5) poisonous ___how good or bad it is

6) to separate ____ to make something exist again

7) quality ___ the activity of collecting plants, animals

8) to recycle ____ toprevent land, water, or other natural
resources from being damaged or destroyed

9) to recreat _____someone who illegally catches or kills
animals, birds

10) to coppice ____ totreat waste materials so that they can be

used again

Quit — npekpariiarb, 3aKaHYUBaTh, OpOCaTh (B 3HAUYCHUHU «II€PECTaBaTh
YeM-TO 3aHUMAaTHCS»).

[maron GaM30K MO 3HAYEHHIO K TIAroyiaM «stopy, «give up» u UMeeT
npousHomicHue [kwit].

Quiet — Tuxwuii, TUIIIHHA.

CnoBO MOXET WCTOIb30BaThCS KaK MPHJIAraTeliIbHOe W CYIIEeCTBU-
TeJIbHOE, UMeeT IIpou3HoIieHue [kwaiat].

Quite — B HEKOTOPOU CTEIIEHH, JOBOJBHO (-TaKH), BIIOJHE, JTIOCTATOYHO,
COBCEM.

Hapeune BbIpakaeT CTENeHb AEHCTBHS, YAaCTO UCMOJB3YETCS B OTPHU-
aHusx (not quiet — He BIOJIHE) U UMEET Mpou3HolIeHue [kwart].

6. Choose the correct words using the information above.

. This problem is ... quite ... different.
.I’mnot ... sure I understand you.

. ... wasting your time.

.He ... his job

. Please, be ... we're trying to sleep.

. He is not ... ready for the tournament.
.It’s so ... here.

. He spoke in a ... voice.

01NN kW
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GRAMMAR
7. Choose the correct form. Is it Active Infinitive or Passive Infinitive?

1. It is important to be conserved / to conserve species and natural
habitats.

2. Many species need to protect / to be protected.

3. New stems can be harvested / harvest.

4. Forests can be replanted / replant to recreate the habitat that has been
lost.

5. There is more waste, so more land has to be used / has been used
for landfill sites.

6. More materials have to be manufactured / have been manufactured
to make new products.

7. Some waste materials can be difficult to be sorted out / to sort out.

8. Something can recycle / be recycled.

8. Translate the sentences. Ask the questions to the underlined words.

1. Conservation is important for protecting nature and culture.

2. Overfishing is greatly reduced fish stocks in the sea.

3. Conservation measures protect species by maintaining their
habitats.

4. It involves cutting trees down to just above ground level.

5. Recycling conserves our natural resources.

6. There are some problems with recycling.

7. Recycling still uses energy, e.g. for collecting, sorting, cleaning and

processing waste.

READING
9.1. Read the text again. Complete 1-7 with suitable ending from a—g.
1. Conservation measures protect... a) metals, paper, plastics, and glass.
2. Many species are now... b) endangered.
3. Coppicing... c) they get thrown away as waste.
4. Reforestation is... d) species.
5. If materials aren’t recycled... e) an ancient form of wood land
6. Recyclable materials include. .. management.
7. Recycling processes usually f) the act of putting new trees into
use less... a place where the original trees

have been cut down.
g) energy and create less pollution
than manufacturing.

9.2. Answer the following questions.

1. How do conservation measures protect species?
2. Name several reasons for conserving species and natural habitats.
3. Why are many species now endangered?
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4. What does coppicing mean?

5. What does reforestation mean?

6. What does replacement planting mean?
7. Why is recycling important?

8. What problems are there with recycling?

SPEAKING
10. What can you do to use natural resources wisely? Present your
project on Simple things we can do to save our environment.

WRITING
11. Complete the table about the pros and cons of ecotourism.
PROS CONS
o o
Positive impact on community culture
Local economic improvement Relocation of locals
Threats to indigenous cultures Valuable biological Information
Increased environmental Natural resource management
awareness
Financial benefits toward conservation
Integrity of ecotourism organization
Local economic improvement Relocation of locals
Travel impacts on the environment
INTERESTING FACTS

12. Read and discuss.

HOW
TO REUSE
OLD
NEWSPAPER

There are several ways how to reuse your old newspaper. You can:
« compost your old newspapers;

« make a cup to start seeds for your garden;

« recycle unused newspapers.
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If you garden, newspaper can make healthy compost. Shred your
newspaper into thin strips and combine it with other carbon-rich
compostable materials such as leaves or grass. Fill your compost bin with
the shredded newspaper and carbon-rich materials, alternating layers with
nitrogen-rich compostable materials (such as coffee grounds and vegetable
food scraps).

Make a small newspaper cup to start seeds for your garden. Place the
cup with the seedling directly in the ground, and the newspaper will
degrade on its own. To fold a paper cup, cut a section of newspaper into a
square, then fold the square diagonally. Fold one corner from the center of
the opposite side, then repeat this with the other corner. Fold the top flaps
down to create an opening for your cup, and place your seeds inside for
planting.

If your local sanitation company offers recycling options, sort your
newspapers into the paper recycling bin.

13. Find out some facts how to recycle paper, metal, plastic on the
Internet.

14. Unscramble the extreme adjectives.

Extreme adjectives mean «very + adjective», they have a strong
enough meaning and we don’t need to use «very».

very little
TNIY
very big
UHEG
very bad
WALFU
very good
RETAG
very important
SSEENALTI
very hot
GNIILOB
very tired
EDSTUAEHX
very afraid
ERRITEDIF
very dirty
LTHIYF
very funny
DRIIUCLUSO
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Unit 13
Climate Change

1. Discuss these questions with your partner.

Do you think it is safe to spend much time in the sun?
Do you often sunbathe? Why/ why not?

2. Pronunciation guide:

climate ['klarmot]
consequence
['kpnsikwons]
reason [ri:z(o)n]
flood [flad]
hurricane ['harikon]
drought [draut]
heat [hi:t]

glacier ['glasio]
current ['karont]
evaporate [|1' veparert]

3. Read the text and say what impact climate change might have.
Comment on the opinion of the author. Give your arguments.

Climate change

Most climate scientists agree
that the Earth is getting warmer.
They’re now trying to work out
what the effects of global
warming might be-sadly; it’s not
as simple as everyone having
nicer summers.

The consequences of global warming could be pretty serious.
If climate scientists are right, there are several reasons to be worried about
global warming. Here’s a few:

As the sea gets warmer, it will expand, causing sea levels to rise. This
would be bad news for people living in low-lying places, like the
Netherlands, East Anglia and the Maldives-they’d be flooded.

Hurricanes are formed over water that’s warmer than 26° C — so if
there’s more warm water, you would expect more hurricanes.

Higher temperatures make ice melt. Water that’s currently ‘trapped’ on
land (as ice) will run into the sea, causing sea level to rise even more.
There’s another problem too- lots of cold fresh water entering the sea could
disrupt the ocean currents. As weather patterns change, the flood we grow
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will be affected, all over the world. Droughts in some places could force
millions of people to move.

You’ll notice that the word ‘could’ pop up quite a bit. That’s because
the climate is such a complicated system. For instance, if the ice melts,
there’s less white stuff around to reflect the sun’s rays out to space,
so maybe we’ll absorb more heat and get even warmer. But ... when
the sea’s warmer. More water evaporates, making more clouds-and they
reflect the Sun’s rays. So maybe we’d cool down again. It’s hard to predict
exactly what will happen, but lots of people are working on it, and it’s
looking too good.

You need to weigh the evidence before making judgments. To find
out if our climate is really changing, scientists are busy collecting data
about the environment. For instance, we’re using satellites to monitor snow
and ice cover, and to measure the temperature of the sea surface.
We’re recording the temperature and speed of the ocean currents, to try and
detect any changes. Automatic weather stations are constantly recording
atmospheric temperatures. Generally, observations of a very small area
aren’t much use. Noticing that your local glacier seems to be melting
does not mean that ice everywhere is melting, and it’s certainly not a valid
way to show that global temperature is changing. Scientists can make
mistakesso don’t take one person’s word for something, even if they’ve got
a PhD. But if lots of scientists get the same result using different methods,
it’s probably right. That’s why most governments around the world are
starting to take climate change seriously.

We, human, have created some big environmental problems for
ourselves. Many people and some governments think we ought to start
cleaning up the mess. Scientists can help, mainly in understanding the
problem and suggesting solutions, but it’s the society that has to do
something.

VOCABULARY
4. Check if you know the key words:

» consequence
» to detect
» drought
» flood
» to evaporate
» glacier
> heat
» hurricane
» solution
» observation
» reason
» to expand
77



» to reflect
» to evaporate

5. Complete the sentences with the words from the list:

v melt

v/ move

v’ earth

v’ reasons
v’ evaporates
v" solutions
v’ predict

v' expand
v’ satellites
v’ climate

1. Most climate scientists agree that the ... is getting warmer.

2. If climate scientists are right, there are several ... to be worried.

3. As the sea gets warmer, it will ..., causing sea levels to rise.

4. Higher temperatures make ice... .

5. Drought is some places could force millions of people to ... .

6. More water ..., making more clouds.

7. 1t’s hard to ... exactly what will happen.

8. We’re using ... to monitor snow and ice cover.

9. Most governments around the world are starting to take ... change
seriously.

10. Scientists can help, mainly in understanding the problem and

suggesting... .

Opportunity — BO3MOXHOCTb.

CnoBo ymoTpeOmsieTcsi, Korjma OOCTOSTENhCTBA CKIAIABIBAIOTCS TaKUM
00pa3oM, 4TO MOXKHO JICTKO MOJIYYHMTh TO, YTO XOTEIH. B pyccKoM si3bIke
MBI MOXEM CKa3aTh, YTO 3TO YIMOOHBIH CITydai c/earh 4To-1u0o.
Possibility — BeposiTHOCTB, BO3MOKHOCTb.

CnoBo ymorpeOisieTcsi, KOrJa €CTb BEpOSTHOCTh CHENaTh WM
HoIpoOOBaTh YTO-TO. B 3TOM cilyuae Mbl TOBOPUM O BEPOSTHOCTH TOTO,
YTO YTO-TO CIYYUTCS WJIU MPOU30MICT MPH OINPEACICHHBIX YCIOBHSIX,
HO MBI HE MOJKEM CKa3aTh TOYHO, YTO TaK U OyIeT.

Chance — mranc, BO3MOXHOCTb.

CnoBo ynoTtpeOissieTcsi B CHTyalusiX, B KOTOPBIX €CTh BO3MOXKHOCTb
C/IeTIaTh YTO-TO MPHUSATHOE, 3aXBaTHIBAIOIIEE HIIU YTO-TO, YTO BBI JaBHO
XOTEJIH.
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6. Choose the correct nouns using the information above.

. She never misses the ... chance ... of a free dinner.

. There is a ... of rain, so take your umbrella.

. Let him take another ...

. He went to London to explore the ... of opening a bakery.
. She didn’t have the ... to pay the rent last year.

. This 1s an ideal ... to save money on a holiday.

. I'never get a ... to relax these days.

. There 1s a ... that the lecture will be cancelled.

O I O\ DN A~ W N =

GRAMMAR
7. Choose the correct form. It is First or Second Conditional?

1. If the sea gets / will get warmer, it will expend, causing sea levels
to rise.

2. If there is / will be more warm water, you will expect more
hurricanes.

3. If higher temperatures make / will make ice melt, water will run into
the sea, causing sea level to rise even more.

4. The flood is / will be if weather patterns change.

5. If there are / will be lots of cold fresh water entering the sea, the
ocean currents will disrupt.

6. If temperature go up / went up by a degree, the sea would flood
many parts of the world.

7. If every family plant / planted just one tree, over a billion pounds
of ‘greenhouse gases’ would be removed from the atmosphere every year.

8. If the polar ice melted, the level of the sea rise / would rise.

8. Write the verb in brackets in the correct form. It is First or Second
Conditional?

1. If you (study) hard, you will pass the exam.

2. If I (have) a motorbike, I would ride it to school.

3. If the level of the sea rose, this (be) bad news for people living in low-
lying places.

4. Come on! Unless we hurry, we (miss) the plane!

5. What would you do if you (see) a snake?

6. If the factory shuts, over 100 people (lose) their jobs.

7. If you (go) to live in a different country, would you e-mail me?

8. We'll go out for a walk unless it (rain).
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READING

9.1. Read the text again and choose the best title for each paragraph.
There is one extra title.

1. Introduction

2. Data about the Environment

3. The consequences of global warming
4. Conclusion

5. Acid rains

9.2. Complete the sentences below in your own words.

1. If the sea gets warmer, it will...

2. If weather changes, the food we grow will be...

3. If the polar ice meets, the level of sea...

4. If the climes changes, it will...

5. The level of carbon dioxide will increase unless we protect...

SPEAKING
10. Explain the green house effect. What problems could global
warning cause?

WRITING
11. Answer the question: Is it a list of proposals or complaints?
Complete the table below.

e To introduce new cards.
¢ To improve the quality.
e To offer the best service.

Which phrases are used to

ask for an opinion? give an opinion?
1
2
3
agree? disagree?
1
2
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INTERESTING FACTS
12. Read and discuss.

WILDFIRES

Wildfires are some of the worst types of natural disasters to hit
any part of the world. The wildfires are uncontrollable and controlled and
usually start up in areas which are in the wilderness. Some call these wild-
fires or refer to them as a forest fire, bush fire, brush fire and many other
names. However, whatever they are referred as, they are dangerous and
unpredictable.

Wildfires do differ from other types of fire because of its sheer size.
The size of a wildfire can be extraordinary and is very difficult to control
also even with dozens of fire fighters working on the fires.

The speed of a fire can be quite fast; and it does even have the ability
to jump gaps. These gaps such as rivers and even roads, the fire can actual-
ly jump to avoid this gap which is extraordinary and something which most
other fires cannot achieve. On almost every continent, with the exception of
Antarctica, wildfires occur. They are mostly found in Australia and in fact,
Australia does have regular occurrences of wildfires and it is due to the
summers being extremely hot and longer than most other countries.

13. Find out some facts about natural disasters, weather disasters,
man-made disasters on the Internet.

14. Guess the words («false friends») according their meanings.
«False friends» are words which have similar sound forms,
but different meanings.
1. What eight-letter adjective means

«correct and true in every detail»? a
2. What six-letter noun means

«a cause for an action or event»? r
3. What eight-letter noun means

«chances or opportunities for success»? p

4. What four-letter noun means

«a number of connected items or names»? I
5. What eight-letter adverb means

«as the truth or facts of a situation; really»? a
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Unit 14

Sustainable Development

1. Discuss these questions with your partner.

Do you know any indicator species?
Can lichen be used as an indicator of air pollution?

2. Pronunciation guide:

pressure ['prefs]
huge [hju:d3]
fibre ['faiba]

medicine ['meds(o)n]
predator ['predoto]

lichen ['laikon]

indicator ['indikerta]
sustainable [so stemnab(o)l]

fibre [ farbo]

chemical [ 'kemik(o)l]

3. Read the text and find out what «sustainable development» means.

k
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SUSTAINABLE
DEVELOPMENT

Sustainable development

There is a growing feeling among
scientists and politicians that if we carry
on behaving as we are, we may end up
causing huge problems for future
generation.

Sustainable  development  needs
careful planning. Human activities can
damage the environment (e.g. pollution).
And some of the damage we do can’t
easily be repaired (e.g. the destruction of
the rainforest).

We need to plan carefully to make sure that our activities today don’t
mess things up for future generations- this is the idea behind the sustainable
development.
Sustainable development meets the needs of today’s population
without harming the ability of future generations to meet their own needs.
This isn’t easy- it needs detailed thought at every level to make it
happen. For example, governments around the world will need to make
careful plans. But so will the people be in charge at a regional level?
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Reduction in biodiversity could be a big problem. Biodiversity is the
variety of different species in an area — the more species, the higher the
biodiversity.

Ecosystem (especially tropical rainforests) can contain a huge number
of different species, so when a habitat is destroyed there is a danger of
many species becoming extinct — biodiversity is reduced.

This causes a number of lost opportunities for human and problems
for those species that are left:

There are probably loads of useful products that we will never know
about because the organisms that produced them have become extinct.
Newly discovered plants and animals are a great source of new foods, new
fibres for clothing and new medicines, e.g. the rosy periwinkle flower from
Madagascar has helped treat Hodgkin’s disease (a type of cancer), and a
chemical in the saliva of a leech has been used to help prevent blood clots
during surgery.

Loss of one or more species from an ecosystem unbalances it e. g. the
extinct animal’s predators may die out or be reduced. Loss of biodiversity
can have a ‘snowball effect’ which prevents the ecosystem providing things
we need, such as rich soil, clean water, and the oxygen we breathe.

Human impact can be measured using indicator species. Some
organisms are very sensitive to changes in their environment and so can be
studied to see the effect of human activities — these organisms are known as
indicator species. For example, air pollution can be monitored by looking
at particular types of lichen, which are very sensitive to levels of sulfur
dioxide in the atmosphere (and so can give a good idea about the level of
pollution from car exhausts, power stations, etc.) The number and type
of lichen at a particular location will indicate how clear the air is.

If raw sewage is released into a river, the bacterial population in the
water increases and uses up the oxygen. Animals like mayfly larvae are
good indicators for water pollution, because they are very sensitive to the
level of oxygen in the water.

VOCABULARY

4. Check if you know the key words:
ability
destruction
development
environment
exhaust
lichen
medicine oil
predator
larvae

YVVVVVVVYVY
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» to destroy
» damage

» to reduce

> sewage

» sustainable

5. Complete the sentence with the words in the box.

future, harming, raw, unbalances, danger,
sensitive, lichen, discovered, damage, careful

1. Human activities can ...... the environment.

2. Sustainable development meets the needs of today’s population
without... the ability of future generations to meet their own needs.

3. When a habitat is destroyed there is a... of many species becoming
extinct.

4. Loss of one or more species from an ecosystem....it.

5. Some organisms are very...to changes in their environment.

6. Air pollution can be monitored by looking at particular types of...

7. If we carry on behaving as we are, we may end up causing huge
problems for...generations.

8. Sustainable development needs .....planning.

9. Newly .....plants and animals are a great source of new foods.

10. If ....sewage is released into a river, the bacterial population in the

water increases and uses up the oxygen.

Green — 5KOJOTUYHBIHN, HATYpaIbHbIN.

OTO camoe IIHUPOKOE MOHSATHE, KOTOPOE BKIOYAET B ceOsl BCE, YTO
MIOMOTaeT OKPYKarolIei cpee.

Eco-friendly, environmentally  friendly -  skomormuecku
0€301acHbIN, YKOJIOTMYECKH O€3BPEIHBII.

OTO MOHATHE BKIIOYAET B ceOsd BCE, 4YTO HE BPEIUT IUIAHETE
(TexHoyIorHH, 00pa3 KU3HH, OBCETHEBHBIC TPAKTUKH ).

Sustainable — ycroitunBbIii, 5KOJOTHYHBIN, palMOHATBHBIM.

OTO MOHATHE BKIIOYAET B ce0s1 BCE, YTO HallEJIeHO Ha Oyaylee, Ha To,
YTOOBI MPOU3BOANTH Oyiara, HE UCTPATUB MHOTO PECYPCOB TaK, YTOOBI
OyayIIHe MOKOJIEHUS TPOLIBETAIIH.

6. Choose the correct words using the information above.

1. ... Green ... products are energy efficient, durable and often have
low maintenance requirements.

2. ... products are often made of recycled materials or content or from
renewable and sustainable sources.
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3. ... products are free of ozone depleting chemicals, toxic compounds
and don’t produce toxic by-products.

4. There are three basic stages to becoming ...

5. Plant more trees so as to make our planet clean and ...

6. A simple and more effective way to live ... is to take public
transportation.

7. The government is promising ... economic growth.

8. The ... use and conservation of forests is very important in Russia.

GRAMMAR
7. Choose the correct form of the modal verb.

1. If we carry on behaving as we are, we must / may end up causing
huge problems for future generations.

2. Human activities can / should damage the environment.

3. Some of the damage we can’t / shouldn’t easily be repaired.

4. Ecosystems may / can contain a huge number of different species.

5.Loss of one or more species from an ecosystem must/can
unbalance it.

6. This may / should explain the disappearance of the dinosaurs.

7. Reduction in biodiversity could / couldn’t be a big problem.

8. The extinct animal’s predators must / may die out or be reduced.

8. Write the words in the right order.
1. I, might, it, later, rain, think.

2. Do, think, you, us, they, can see?

3. The experts, may, the climate, say, warmer, get.

4. 1, the, think, answer, correct, don’t, can, this, be.

5.They, the, lights, are, on, at home, must, be, because.

6. You, could, right, be, but, not sure, I’'m.

7. You, it’s, can’t, park, there, prohibited, because.

8. The results, they, too, can’t be right are, because, high.
READING

9.1. Read the text again and say if the following sentences are true,
false or they don’t have information.

1. Oil is a renewable resource.

2. A definition of SFM is known as sustainable forest management.
3. Reduction in biodiversity is a big problem.

4. Biodiversity is the variety of different habitants.

5. Loss of one or more species from an ecosystem balances it.

6. Human impact can be measured by using indicator species.
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7. Air pollution can be monitored by looking at particular types of
animals.

8. If you find mayfly larvae in a river, it indicates that the water is
clean.

9.2. Complete the sentences wusing biodiversity or sustainable
development.

1. ... needs careful planning.

2. Reduction in ... could be a big problem.

3. ... 1s the variety of different species in an area.

4. ... meets the needs of today’s population without harming the
ability of future generations to meet their own needs.

5. This is the idea behind the ... .

6. Loss of ... can have a ‘snowball effect’.

SPEAKING
10. Choose the topic for discussion.

a) Explain how lichen can be used as an indicator of air pollution.
b) Give two reasons why it is important to conserve biodiversity.

WRITING
11. Put the responses to the suggestions in order from the most positive
to the most negative. Add yours.

That’s a good idea.

I’m not happy about that at all.
That might work.

I think that’s a great idea.

I’m not sure about it.

INTERESTING FACTS
12. Read and discuss.

PINE TREE

Food uses
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Pine provides some of the most readily food sources in nature.

All pines contain edible seeds in the late season cones. The only issue
is quality and sizes of those seeds are highly dependent upon the species of
pine. As someone who lives in the Northeast, species of pine available here
do not offer up seeds big enough to warrant the effort required in gathering
and processing them. However, if you live in the Great Basin areas where
Pinyon pine grows, you have an excellent source of food in the fall time.

The needles of all pine make an excellent mild tea (not at all pitchy
tasting as you’d expect) that is loaded with Vitamin C. To make the tea,
simply gather a good handful of fresh green pine needles. With a knife or
sharp stone, dice the needles as fine as possible. Next, take these needles
and put them directly into a cup of boiling water, letting it boil for a minute
or two. The water should turn a light yellow color. Add some honey, drink
and enjoy!

In the spring time, the pollen from the small male pine cones
(as pictured below) can easily be shaken from the cone into a container
and used as a stew thickener, or flour substitute that i1s a great source
of protein.

13. Find out some facts about the interesting properties of trees,
plants, flowers on the Internet.

14. Match the words on the left with the words on the right.

An oxymoron is a figurative language that joins together
two opposing elements to form a sensible idea.

1. Alone ___ exactly
2. Practical _ difference
3. Deafening ____ confused
4. Virtual _ reality
5. Original _____invisible
6. Appear __good
7. Awtully __ugly
8. The same _ silence
9. Lager ___ together
10. Almost ___copy
11. Pretty ___ theory
12. Clearly ____ half
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TECT Unitl

1. This CD belongs to me. This CD is
a) my
b) mine
c) me

2. We own this house. This house is
a) our
b) ours
c) us

3. That bike belongs to her. That bike is
a) hers
b) his
c) her

4. Is this yours? Does this belong to
a) yours
b) your
c) you

5. These are our books. Those books are

a) their
b) theirs
¢) them

6. I am sorry, I don’t know about it so I can’t help you.
a) nothing
b) something
¢) anything

7. 1don’t know what it is but 1s worrying him.
a) something
b) anything
¢) nothing

8. Is okay? You all look a bit tired.
a) something
b) everything
¢) anything

9. has left a message for me.
a) Something
b) Someone
c) Anyone

10. I’ve made my decision will change my mind.
a) anything
b) nothing
c¢) something
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TECT Unit2

1. Walking is

than cycling.

a) slow
b) more slow
c) slower

2. I don’t think chemistry is quite as

a) difficult
b) more difficult
¢) the most difficult

as physics.

3. English is a lot

to learn than Chinese.

a) easy
b) easiest
c) easier

4. This is the

test I’ve ever taken.

a) complicated
b) more complicated
¢) most complicated

5. The Nile is

than the Thames.

a) longest
b) long
c) longest

6. London is one of the
a) large
b) largest
c) larger

cities in the world.

7. If you cut your hair a lot it won’t grow ,

a) faster
b) fast
c) fastest

8. You are the
a) better
b) best
¢) good

friend I’ve ever had

9. Mount Elbrus is
a) high
b) higher
¢) more high

than Mont Blanc.

10. This chair isn’t as

as the sofa.

a) comfortable
b) more comfortable
¢) the most comfortable
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TECT Unit3

1. Many people say they are interested in and
a) the nature, the environment
b) nature, the environment
¢) nature, environment

2. Windows are made of
a) a glass
b) the glass
c) glass

3. is an important source of information.
a) Internet
b) The Internet
¢) An Internet

4. My brother became
a) engineer
b) a engineer
) an engineer

5. If you want to be healthier, think carefully about you eat.
a) a food
b) the food
¢) food

6. Stress also makes unhealthy.
a) people
b) the people
c) a people

7. You could visit a friend or go to
a) cinema
b) a cinema
¢) the cinema

8. Try learning
a) a new sport
b) new sport
c) the new sport

9. We are having this summer.
a) a good weather
b) the good weather
¢) good weather

10. make very good electronic products.
a) Japanese
b) The Japanese
¢) A Japanese
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TECT Unit4

1. The crowns of the trees receive most of the
sunlight.
a) dominate
b) dominant
¢) dominance

2. A tree is a perennial plant.
a) wooden
b) woody
¢) wood

3. Without the of the trees, the soil dries out.
a) protective
b) protect
c) protection

4. The destruction of the rain forests is one of the world’s most
important problems.
a) conservation
b) conserve
) conservative

5. Animals adapt to in the climate of the
area where they live.
a) survive
b) survival
¢) surviving

6. Some scientists believe that nature will absorb the
of greenhouse gases.
a) effect
b) effectively
c) effects

7. Global warming research many mistakes.
a) containment
b) container
¢) contains

8. The speed, height and power of tsunami make it very
a) destruction
b) destructive
¢) destruct

9. hunting is threatening the survival of species.
a) Legal
b) Illegal
c) lllegally

10. Species that face biological extinction entirely
from the Earth.
a) disappearance
b) disappear
c) appear
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TECT Unit5

1. lunch he goes to school.
a) During
b) After
c) Before

2. We watched the news breakfast.
a) during
b) while
) in

3. I haven’t seen him Tuesday evening..
a) from
b) since
c) for

4. the time we get to the party, it will be over!
a) Before
b) After
¢) By

5. 1 was born the 1™ of May 2004.
a) in, in
b) on, in
¢) in, on

6. What do you usually do the weekend?
a) on
b) in
c) at

7. Why is my name the bottom of the list?
a) at
b) to
¢) under

8. It was too late so I went the airport taxi.
a) in, on
b) to, by
c) up, at

9. The class isn’t very friendly the new student.
a) about
b) to
c) towards

10. The school provides all students textbooks.
a) with
b) —
c) of
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TECT Unit6

1. She is saving all her pocket money have
enough to go on holiday.
a) because
b) in order to
) so

2. He is going to take a map he won’t get lost.
a) so
b) because
¢) in order to

3. The woman is talking to the man is the manager.
a) who
b) which
c) whose

4. Technology was once very fashionable
becomes out-of-date very quickly.
a) which
b) who
c) where

5. A laboratory is a place we do scientific
experiments.
a) which
b) where
¢) when

6. This is an important invention for people eyesight is
not very good.
a) where
b) who
c) whose

7. I’ve just passed my driving test, I’'m so happy.
a) that is why
b) because
c) although

8. Pollution has been increasing air traffic.
a) that is why
b) because
c¢) because of

9. you don’t know exactly what the problem is, it
is difficult to solve.
a) Unless
b) If
c¢) Although

10. A postgraduate degree is more advanced a bachelor’s.
a) that
b) then
¢) than
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TECT Unit7

1.1 that a good idea.
a) think, there is
b) think, are
c¢) think, is

2. We to the supermarket now, do you need anything?
a) go
b) going
c) are going

3.1 chemistry because it difficult.
a) don’t study, is
b) doesn’t study, is
c¢) don’t study, are

4. your brother home after school?
a) Do, go
b) Does, go
c¢) Does, goes

5. How many brothers you ?
a) does, have
b) do, has
¢) do, have

6. Excuse me, what you ?
a) do, meaning
b) are, meaning
¢) do, mean

7. Wake up! The teacher you a question.
a) ask
b) asks
c) is asking

8. That’s the book I at the moment.

a) have read
b) read
¢) am reading

9. Everybody that the world’s rainforests
a) know, are disappearing
b) knows, are disappearing
c¢) knows, is disappearing

10. We an experiment and notes.
a) are doing, are making
b) are doing, making
¢) are doing, make
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TECT Unit8

1.1

a) went
b) go
c) has gone

to the doctor yesterday.

2. We

Math last week.

a) don’t have
b) haven’t had
¢) didn’t have

3.1

him for ages!

a) didn’t see
b) haven’t seen
¢) haven’t see

4. He

in London from 2018 to 2020.

a) have lived
b) lived
¢) has lived

5. Jane has been here
a) for
b) since
c) to

an hour.

6 you

to the cinema last week?

a) Do, go
b) Did, went
¢) Did, go

7. Our teacher

already us a test.

a) has, give
b) have, give
¢) has, given

8.1 by plane.

a) have never travelled
b) never have travelled
¢) never travelled

9. Someone
a) has broken just
b) just has broken
¢) has just broken

a window.

10. The ancient Romans steam engines in their battles.

a) don’t use
b) haven’t used
¢) didn’t use
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TECT Unit9

1. Some countries have been harmed

a) by
b) to
c) at

tourism.

2. My bicycle

yesterday.

a) is stolen
b) was stolen
c) stole

3. Pizzas

in Italy.

a) made first
b) were first made
c) was first made

4.1

angry because I

a) was felt, wasn’t asked
b) felt, didn’t ask
c) felt, wasn’t asked

5. A new swimming pool

in my town.

a) have been build

b) have built
¢) has been built

6. These cakes
a) make
b) are made
c¢) is made

in a baker’s shop.

7. English
a) speak
b) speaks
c) is spoken

in Australia.

8. My uncle
Chinese but she
a) is come, was born
b) comes, was born
¢) is come, born

from Canada. His wife’s family is

in Canada.

9.1
a) am being given
b) have been given
c¢) have given

lots of lovely presents for my birthday.

10. Carbon dioxide gas
a) absorbs
b) are absorbed
c) is absorbed

by plants through their leaves.
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TECT Unit10

1. They were with the results of the experiment.
a) disappointing
b) disappointed
¢) disappoint

2. Grey wet weather is
a) depressed
b) depress
¢) depressing

3. The teacher was not by the joke and gave us
extra work.
a) amusing
b) amused
¢) amuse

4. Some students blame the school system, because the subjects
they are studying are just not
a) interest
b) interested
¢) interesting

5. CO: is a compound from carbon and oxygen.
a) forming
b) form
c¢) formed

6. Photosynthesis is process sunlight into nutrients.

a) transforming
b) having transformed
¢) transformed

7. Are you after the journey?
a) tiring
b) having tired
c) tired

8. This issue is rather
a) confuse
b) confused
¢) confusing

9. Element is a basic substance up of one particular
type of atom.
a) make
b) made
¢) making

10. together, environmental engineers try to protect
nature.
a) Work
b) Working
c) Worked
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TECT Unit1l

1. Take an umbrella with you. It

to rain.

a) going
b) will
c) is going

2. What you do this evening?
a) is, going
b) are, going
c) are, going to

3. I don’t have any plans. My parents

go to the

theatre.

a) will

b) are going to
c) are going

4. What time he arrive ?
a) is, going
b) are, going to
¢) is, going to

5. The climate definitely change in future.

a) will
b) is going
c) will to

6. Look at those big black clouds! There
a) is going
b) are going
c) isn’t going

to be a storm.

7 phone you about the homework?

a) Will you
b) Shall you
c¢) Shall

8. As soon as we hear any news, we
a) let
b) will let
c) are letting

you know.

9. When we each other again?
a) won’t, see
b) are, going
c) will, see

10. Who me at the airport?
a) will meet
b) will to meet
¢) shall to meet
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TECT Unit12

1. My parents don’t let me noisy parties.
a) to hold
b) holding
¢) hold

2. Isuggest out for a walk.
a) go
b) going
c)to go

3. If they manage a university degree, they will
stand more chance of getting a good job..
a) get
b) to get
c) getting

4. Many young people avoid any exercise.
a) taking
b) to take
c) take

5. Volunteers work hard endangered species
extinction.
a) prevent
b) to prevent
¢) to be prevented

6. Metal, paper, plastics and glass can
a) recycle
b) to be recycled
¢) be recycled

7. Would you mind for my lunch?
a) to pay
b) pay
c) paying

8. Over-use of the Internet can make certain people addicts.
a) become
b) to become
¢) becoming

9. a foreign language takes lots of hard work.
a) Learning
b) Learn
¢) To be learned

10. E-mail allows us messages all around the world.
a) send
b) sending
¢) to send
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TECT Unit 13

1. If you heat water to 100° C, it
a) boils
b) boiled
¢) boiling

2. If everyone recycles paper, companies SO many
trees.
a) will cut
b) would cut
¢) won’t cut

3. If now, we will catch the bus.
a) we leave
b) we will leave
c¢) we would leave

4. You will pass exams if you hard.
a) will study
b) study
¢) would study

5. We wouldn’t be lost if we a map.
a) had
b) have
¢) have had

6. What if the Earth stopped turning?
a) happen
b) will happen
¢) would happen

7. If I were you, | do that.
a) won’t
b) wouldn’t
c) don’t

8. If you have lived a hundred years ago, what your
life like.
a) would, have been
b) would, be
c) will, be

9. Would Peter mind if I his bicycle?
a) had borrowed
b) borrow
¢) borrowed

10. Unless we something now, global warming will get
worse.
a) do
b) did
¢) didn’t do
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TECT Unit14

1. I have an appointment at the dentist’s at 12. I leave
half an hour early?
a) Would
b) May
¢) Must

2. John, you are nearest the window. open it
please?
a) Could you
b) Could I
¢) Could he

3. Those books must be heavy. carry some of them?
a) Shall I
b) Shall you
c¢) Shall they

4. let me have your project tomorrow?
a) Can you
b) Must you
¢) Should

5. sit here, or do you want me to sit somewhere else?
a) Could you
b) Why don’t we
c¢) Shall

6. You listen to the weather forecast before you go hill
walking.
a) may
b) can
¢) should

7. You arrive on time today.
a) can
b) may
¢) must

8. You park in this street.
a) mustn’t
b) couldn’t
c¢) don’t have

9. You to wash up. I'll do it.
a) can’t
b) mustn’t
c¢) don’t have

10. He his homework because he lost his book.
a) cannot
b) couldn’t
¢) shouldn’t
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